EE ®RH ks RRIBM SRR A | BERES | R (m) | 4E (Ke) BRERR
1 |FR30£10A28 WA Bre xT I Sk 41 2 it
2 |ERB14E1A3A HERET g xT | Sk 65 6 it
3 |FRBIF2A17B | RHH EE xT | RRBR 100 #130 et
4 |ER314E3A2A FERH |=/B xT | RRBR 87 #120 et
5 |ERI3143A8A SARET | EL xT I RRBR 85 10-15 it
6 |FR31F3IA228 |MINH Brs xT I RRBR 85 14 it
1 |¥m3143A268 |[FBEFET  |H/A ®r | RRBR 120 #3240 it
8 |fMIFIA29A B AEAR T i R #130 1 Rt
9 |fMI48A22A (UEA:) FR T ] HER #160 5 Rt
10 |[®M149A178 FERHT waR T # R 62 FH [4+3
11 |$MIF10A218  |HERT |REXFR bk 3 3 R 135 65 [4+3
12 |[S$MIE10A218  |#HERT |REXHFR bk 3 3 I 95 30 [4+3
13 |HMIFEI10A248 |MmRE#HET |iE@ T # R 80 20 [4+3
14 |[§M1F10A278 |#@ERT  |REEF bk # R 150 100 it
15 |f#1F10A288  |#@AERH |RKREWLU bk g I 85 30 [4+3
16 |fM1F10A288 |HERT |[RETRE bk 3 g R 140 100 it
17 |[RMIF10A308  |#HERT |BREFAR bk 3 3 I 60 20 [4+3
18 |RMIFI10A31E  |[#HERT |REEH bk 3 g I 80 10 [4+3
19 |[RMIFI10A318  |[#HERT |REEH bk 3 3 I 90 13 [3+3
20 |fFIENAIR ARRT | RETRA bk ] 1.3 130 75 [4+3
21 |fFENAIE ARRT | RETRA bk ] I 90 25 [4+3
22 |S#MIF11AIR BR#ET ST T # RLER 110 50 [4+3
23 |fFifE11A28 ARRT | RETRA bk 3 3 I 70 20 [4+3
24 |&FfE11A28 ARRT | RETRA bk ] 1.3 120 55 [4+3
25 |ffifE11A28 ARRT | RETRA bk # 1.3 140 60 [4+3
26 |SMIFNANE  |[#HEBRT |BREFAR bk 3 g I 60 20 [4+3
21 |$#MIF11A12B |EXH LHE T ] R 75 35 [4+3
28 |SMIFAI2E [HEEBRT |RETRA bk 3 3 I 65 25 [4+3
29 |HMIFNAIE  |[HEBRT |BREEH bk 3 g R 100 50 [4+3
30 |SMIFNAI4E  |[HEBRT |RETRA bk 3 g I 65 25 [4+3
31 |[HMIFIAISE [EmREAT |BR T # R 67 8 [4+3
32 |SMIFNAITE  |[HERT |REREFR bk 3 g R 140 70 [4+3
33 |HMIFNANTE |EEERTH  |&EWWL bk g I 60 15 [4+3
34 |SMIFNAITE  |[HEBRT |RETRA bk 3 g I 60 20 [4+3
35 |SMIFIAIBE  |[#HERT |RETRA bk 3 3 R 135 65 [4+3
36 |HMIFIAIBE  |[HERT |REREFR bk 3 g R 130 70 [4+3
37 |SMIFAIBE  |[#HEBRT |BREFAR bk 3 3 I 80 25 [4+3
38 |HMIFI1A208 |[HERT |RETRA bk 3 3 I 65 20 [4+3
39 |SMIF1A2E  |[HERT |[RXEH bk 3 g R 120 60 [4+3
40 |SMIFIAUE  |[HEBERT |BREFAR bk 3 g I 45 6 et
M |SMIFI1A28 |FEERT =M T ] RLER 110 60 [4+3
2 |SMIF11AB%E  |[HERT  |BREEH T # R 50 10 [4+3
43 |KMIEA2IE  |WHERT |RERER bk 3 g R 110 40 [4+3
4 |HIMIENA2IE  |WHERT |[RERER bk 3 3 I 80 15 [4+3
45 |HWMIFNA2IE | RIIE =% bk 3 g R 144 52 [4+3
46 |FMIF11A28E | MERHET BEOE/ L bk 3 I 75 15 [4+3
471 |SMFNAWE  |[MEERH  |ES bk 3 g I 60 15 [4+3
48 |HRMIFI1A298 | KHET [11]::} bk g R 110 65 [4+3
49 |SWIFNA0E  |[HEBERT |[BRE=S K bk 3 3 I 80 14 [4+3
50 |HMIFI1A298 |[MEERH |- bk 3 g R 120 60 [4+3
51 |®MIE11A298 |MEHET |- bk 3 3 R 120 65 et
52 | I1F11A308 |EKH iR bk 3 g R 110 50 [4+3
53 |HMIF11A0E |[#HERH & bk 3 g R 140 60 [4+3
54 |SMIFI11ANE |[#HERT |BREFAR bk 3 g 543 120 70 [4+3
55 |f#1fE12A18 ARRT  |REWL bk ] 1.3 120 70 [4+3
56 |HM1F12A18 MERRH |- bk 3 3 R 125 100 it
57 |S#M1F12A18 % )IIHT HRL bk g I 85 13 [4+3
58 |H#M1F12A28 R iR bk 3 g R 100 50 [4+3
59 |H#M1F12A28 BAH Al bk 3 3 R m 21.4 [4+3
60 |fi1fE12A28 HEMAT  |BR bk 3 ] 1.3 103 28 [4+3
61 |H#M1F12A28 MERH B bk 3 3 R 128 135 it
62 |fi1f12A28 % )I1HT = bk g I 91 12 et




EE %R H ks RRIBM SRR A | BERES | R (m) | 4E (Ke) RERR
63 |fi1fE12A28 )17 = HE | FH| AR 113 20 et
64 |fI1fE12A28 Ll FRAR bk 3 ] R 76 40 [4+3
65 |fi1£E12A38 HERET BRAR HE | FH| 9K 90 17 [4+3
66 |fi1£E12A38 L 2lkE ) Bre bk g I 80 7 [4+3
67 |H#M1F12A38 HERET ] bk 3 3 R 145 110 it
68 |HM1F12A48 HAE BT WHEF bk 3 R 80 40 [4+3
69 |HM1F12A48 =D O il bk 3 I 60 15 [4+3
10 |&MiE12A48 MERH AR bk 3 3 I 50 25 [4+3
| &MiE12A48 FERHT XFEE bk g R 98 70 [4+3
12 |##1412A58 MEFRH KR bk 3 3 I 90 40 [3+3
13 |##1412A58 EHW 8 bk 3 g R 112 60 et
14 | ®#1412A68 =D O il bk g I 50 15 [4+3
15 | SM1E12A68 =D O il bk 3 R 60 25 [4+3
16 | SMIE12A78 BAH IR E bk 3 # 1.3 112 40 [4+3
11 | &MIE12A78 HARRT | RESEF bk # Ll 70 8 [3+3
18 | ##1§12A78 MERH | LER bk 3 g R 120 90 [4+3
19 |##1€12A78 ITEq:) Bl bk g R 125 55 [4+3
80 |f#n1fE12A8H L 2lkE ) Bre bk g R 150 45 [4+3
81 |fi1f12A88 BAH LUEF bk 3 ] 1.3 140 45 [4+3
82 |fi1f12A98 ks Bre bk g R 120 30 [4+3
83 |f#1fE12A98 Ll B’E bk 3 ] 1.3 102 34 et
84 |fI1fE12A98 HERET BRAR bk 3 3 I 90 15 [4+3
85 |fi1fE12A98 HERET ] bk 3 g I 80 15 [4+3
86 |HMIF12A98 =D O Gl bk 3 R 120 70 [4+3
87 |HMIF12RA108  |fREET BEBHE bk 3 3 R 110 80 [4+3
88 | ISFI12A108  |FEMTH  |WW bk g R 101 28 [4+3
80 |FMIFI2A108 | M{RH £ #u bk g R 80 20 et
90 | MIFI1I2ANE  |udLHr & bk g R 127 60 [4+3
91 |HMIFI12A128  |HRHAEH  |BEH bk 3 g R 84 18 [4+3
92 |HMIFI12A138 | M{RET ] bk 3 g R 110 60 et
93 |HMIFI12R138  |EEREH |[RE/H bk ] R 130 80 [4+3
9 |HMIFI12R138  HEERTH  |RE/DFH bk ] I 50 8 [4+3
95 |HMIF12A138 |[HERTH |[KXEH bk 3 g I 65 8 [4+3
96 |FAMIFI2A148 |[#AEHET WHEF bk g R 85 35 [4+3
97 |H#MIFI12A148 |RHH S bk 3 g R 83 23 et
98 |HMIFI12A148  |RHH S bk 3 3 R 150 109 it
9 |fH#MIFI12A158 |RHH S bk 3 g R 106 15 [4+3
100 |RFIF12A158  |HERT |BREEH bk .3 B 90 20 et
101 |[SIF12A158 | E&RHE BERAR bk 3 24-3 130 100 et
102 |f#1F12R168  |Mu# Bra bk 3 24-3 150 75 243
103 |[S#f1F12A168 HERT |[BREEH BT ([FH| $HR 30 FH [24:3
104 |SF1F12R168  |AEET WE#E bk .3 B 120 70 Rt
105 |f#1F12R168  |Mu# Bra bk 3 B 80 10 et
106 |f#1F12R168  |Mu# Bra bk .3 B 80 8 Rt
107 |®#1F12R168  |Mu# Bra bk .3 B 80 8 Rt
108 |®#1F12R178  |FE4EHE AR bk 3 24-3 80 40 et
109 |$#MI1F12A188  |[MEFRH |- bk .3 24-3 100 80 Rt
110 |FFI1F12R198 | KHHT &F bk 3 24-3 80 40 et
11 | SMIFI12A198 | RHH AER bk .3 24-3 132 80 Rt
12 |[SMIF12A198 | RHH RER bk 3 24-3 122 80 243
113 |[$MIF12A218 | EH&RH £ M bk .3 24-3 110 45 Rt
114 | $f1£12A218 | RHH AR bk 3 24-3 142 60 Rt
115 |§f1F12A218  |FBEE ke bk 3 24-3 100 80 243
116 |®M1F12A228  |#HERT |[HREEH bk 3 24-3 120 60 Rt
17 |[$#1412A228  |LdLHr FR bk .3 24-3 132 75 243
118 |f§#f1F12A228 | EBH il AR bk ] 24-3 92 30 et
119 |[$#1F12A228 | RHH txs EfE bk .3 24-3 92 25 et
120 |f#F1F12A228 |EERT | RE=7 K bk 3 24-3 130 40 243
121 | §M1F12A238 EERT  |[RE=H# bk 3 24-3 130 80 Rt
122 |[$#f1412A238 |#@ARET | < oA I bk 3 24-3 75 20 et
123 |[$#1412A238 |#@ARET | < oA HIL bk 3 24-3 83 40 et
124 | §MIF12A248  EERT | REFHLEFH bk .3 B 80 8 43
125 |§#f1F12A248 | BRBH HREF bk 3 24-3 110 40 243
126 |[H#1E12A258 | KFH =B bk 3 24-3 140 130 et
127 |[S#1E12A258 | KFH+H [11]::} bk .3 24-3 80 30 et
128 |§#1F12A268  |EARRT |REFHHE bk ] 24-3 120 90 et




&5 %R H ks RRIBM SRR A | BERES | R (m) | 4E (Ke) RERR
129 |S#1E12A268  |#A@EHE '] bk ] 24-3 120 90 2y
130 (1412268 |MERT |LEE bk ] 24-3 110 80 2y
131 |[SMIF12A2TH | KFHH =B bk ] 24-3 80 40 et
132 |[H#1412A278  |udLHr &l bk ] 24-3 115 45 2y
133 |[H#1F12A288 | RHH BB bk # 24-3 134 50 2y
134 |[S#1E12A288 | RHH BB bk # 24-3 130 50 2y
135 |H#1412A308  |dLHr &l bk ] 24-3 115 45 2y
136 |[H#IEI12A318  |#AEHET WERE bk .3 24-3 90 40 et
137 |[S$f2&1A18 LWL BT RN bk L R 100 40 et
138 |H#2%1A28 EHH EEL)IR bk i R 114 55 et
139 |[S#f2&1A38 FEH &R e i 4.3 155 95 et
140 |[Sf251A48 ALK Bee bk i R 130 60 et
141 | SfM2&1A48 KT [17]::] bk L R 90 50 2y
142 |[Sf2&1A48 KT FRE bk L R 90 60 2y
143 |[Sf2&1A48 KT &R bk L] R 132 80 et
144 | Sf251A68 HERT | RE xT i S 70 7 et
145 |[Sf251A68 EHH KEBRTR bk I R 100 20 et
146 | Sf251A68 EHH KEBRTR bk i R 100 20 et
147 |[Sf251A68 EHH KEBRTR bk I R 125 30 et
148 | Sf2&1A78 HERT | REEH bk I R 100 50 et
149 | f$Ff25F1R148 s Bee bk i R ;) 60 2y
150 |H#n241H148 EHH BERFREAR bk i R 106 70 et
151 | §f25F1R158 HERT | REEBI bk I S 70 15 2y
152 | H#n241H168 EHH HERFEYE bk I R 76 25 2y
153 |[H#2&1A178 % )IIBT INEW bk L R 100 50 et
154 | S#241A198 HERT | RETAR bk I S 60 15 2y
155 |H#n241A198 HERT | RETAR HE (TR 9K 70 15 2y
156 |H#241A198 HERT | RETAR HE (TR 9K 55 10 2y
157 |[S#241A198 =2 )I18T = bk L] R 135 8 et
158 | H#n241H208 HERT | REWIL bk i S 65 15 2y
159 |H#n241H208 LWL BT RN bk i R 120 50 et
160 |H#n241A218 % )IBT AR bk i R 140 80 et
161 |[S#241A218 =2 )II8T = HE |FH| EK 140 65 et
162 |[H#241A218 =2 )I18T = bk i R 130 50 et
163 |H#241A218 HERT | REEH bk i R 140 80 et
164 |H#241A218 HERT |RERE HE | FB| B 125 60 et
165 |H#n241A218 % )IIBT ¥R bk L S 120 30 et
166 |H#n241H228 EHH g e i R 85 25 2y
167 |H#241A228 EHH x4 bk L R 100 30 et
168 | H#n241H248 HERT | REFHLEH bk I S 80 30 2y
169 |H#n241H248 -1 hE bk i R 106 15 et
170 |§#251 7258 HERT | REEMAS) bk i S 110 70 et
171 |[$#241A258 =2 )II8T = bk L] S 80 20 2y
172 |[S#241H268 Y EET WEBE bk i R 70 40 2y
173 |[S#241A278 FERAT wakR bk L R 100 70 et
174 |[S#241A278 MERT RF bk L] S 40 15 2y
175 |S#241A298 FEH RH bk i R 100 45 et
176 |f#1251R308 FEH &R e i 4.3 133 55 et
177 | $#251R308 HERT | REEH ®T i S 80 20 2y
178 |[Sf2%2A18 KFHT =R bk i S 80 10 2y
179 |[$f2%2A18 BERT | &KE=sK bk L] o3 100 50 et
180 |H#2%2A18 HERT | RETRE bk i S 65 15 2y
181 | H#242A28 HERT | REWER bk i R 110 50 et
182 | H#242A38 HERT | REEH bk I R 100 40 et
183 |[H#242A38 HERT | REEH bk i R 110 50 et
184 |HH242A48 HERAT - bk i o3 80 18 2y
185 |H#242A48 HERAT - bk g R 80 15 2y
186 |HF242A48 HERT | RETRE bk i R 140 80 et
187 |&#242A58 HERAT Ll bk i R 170 120 2y
188 | HH242A68 FEH =i fibid L 4.3 105 40 et
189 |HH242A78 FERT  |FB bk # 543 158 93 FEtt
190 |SFf2%2A78 #gEREH |=/85 bk ] 543 90 40 FEtt
191 |SfM2%2A78 2 )I1ET =i bk ] I 70 20 fEtt
192 |§#242A7H HERT | REIR bk # 543 155 80 FEtt
193 |[Sf2%2A78 FERAT wakR bk L R 100 70 et
194 | Sf242A78 Y EET WHEEF bk i R 110 30 et




&5 %R H ks RRIBM SRR A | BERES | R (m) | 4E (Ke) RERR
195 |Sf2%2A78 MARRT B bk L R 130 40 et
196 |Sf2%2A78 HERAT EREERT bk i R 150 100 2y
197 |S#242A98 KT FRE bk L R 120 80 et
198 | SH242A98 KT = bk i R 130 90 et
199 |S252A98 KT &R bk L R 133 72 et
200 |§#I24£2AR108 BARET  (BAE bk L R 90 90 2y
201 |&#124£2AR118 % )IBT ¥R bk i R 129 37 et
202 |&#I24£2AR118 % )IIBT ¥R bk i R 113 25 et
203 |H#I24£2AR118 F8RM |=/8 bk L] R 160 25 et
204 |&#I24£2R118 -1 = bk L R 102 20 et
205 |§#I24£2AR 128 -1 hE bk i R 161 80 et
206 |§#I24£2AR 128 EHH xE bk i S 50 15 2y
207 |§#124£2AR138 Y EET % bk i R 140 90 et
208 |H#I24£2AR 148 KT = bk L R 80 40 2y
209 |§#I24£2AR 148 KT = bk i R 160 120 2y
210 |§#124£2R148 -1 hE bk L R 148 80 et
211 | H#242R148 -1 hE bk i R 136 50 et
212 |H#242A148 ZEHT fE 1 i AR 113 20 [543
213 |#242AR148 HERT | RE bk i R 120 80 et
214 | &#242A158 HERT | RE bk i R 140 60 et
215 | #I24£2A 168 -1 —f bk i R 123 45 et
216 |H#24£2AR168 Y EET WEBE bk L S 60 15 2y
217 |&#242AR168 HERT | RETRE bk i S 80 25 2y
218 | HF252A168 HERT | REEBI bk I R 90 30 2y
219 | HF252A168 HERT | REEBI bk i R 60 30 2y
220 |&#I24£2R178 FEH TE bk L R 100 55 et
221 | &#24£2R178 % )IBT ¥R bk L R 121 a4 et
222 |&#I24£2A 198 FERT |FB bk i R 160 96 et
223 |&#I24£2A198 LWL BT RN bk L R 130 70 et
224 | &#I24£2R198 HERT | RE bk L R 150 70 et
225 |H#I24£2A218 FERAT e bk i R 100 70 et
226 |H#I24£2A218 HERAT EREERT bk i S 90 18 2y
227 |&#I242A218 KR iR bk i R 149 75 et
228 |H#I24£2A218 FRBRT B/ A bk i R 97 34 2y
229 |H#I24£2A 248 KR EWmiR bk L R 100 50 et
230 |H#I24£2A 248 LWL BT RN bk i R 130 75 et
231 |H#24£2A248 KT = bk i R 100 70 et
232 | H#I24£2A 248 KHgHT RE bk L R 148 65 et
233 |H#I24£2A 248 HERT | REWER bk i R 140 70 et
234 | HF252A248 BERT | RE=SK bk i R 80 40 2y
235 |#I24£2A25R HERAT EREERT bk I S 90 17 2y
236 |H#I24£2A25R =2 )I18T = bk i R 140 30 et
237 |H#I24£2A258 =2 )II8T = bk i R 120 25 et
238 |H#I24£2A25R EHH x4 bk i R 90 20 2y
239 |H#I24£2A26R KR iR bk L R 100 40 et
240 |H#I24£2A 28R KT [17]::] bk i R 100 45 et
241 | &#I24£2A 28R KT [17]::] bk i R 90 40 2y
242 | #I24£2A298 HERT | RETRE bk I R 80 25 2y
243 | H#I24£2A298 HERT | REEH bk I R 100 50 et
244 | #24E3A1RH HERT | REWIL bk i S 70 12 2y
245 | #124£3A2R HERT | REEH bk I R 100 50 et
246 |H#24£3A2R % )IIBT ¥R bk L R 100 50 et
247 |H#24£3A3R EHH iR bk L R 95 30 2y
248 | H#24£3A5R HERT | RETRE bk I R 80 25 2y
249 |H#24£3A5R HERT | RETRE bk I R 140 70 et
250 |f#I24£3A5H KR L#E bk i R 144 80 et
251 |f#24£3A5R HERT | REEH bk I R 80 20 2y
252 |H#124£3A6R KR kot i bk L 4.3 95 40 2y
253 |H#I24£3A6H KT =R bk i R 100 50 et
254 | H#I24£3A9R HERAT BoL bk i R 100 25 et
255 |H#I24£3A108 LWL BT RN bk I R 75 18 2y
256 |H#I24£3A118 EHH HE pA= i R 130 60 et
257 |&#243A118 LWL BT RN bk L R 60 15 2y
258 |H#I24£3A118 LWL BT RN bk i R 60 15 2y
259 |H#I243A118 EHH FH HE | FBH| BK 60 15 2y
260 |HF24E3A128 ZEHT fE i 114 AR 115 30 [543
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261 |H#124£3A128 -1 hE bk L R 113 30 et
262 |H#I24£3A 148 -1 —f bk L R 101 25 et
263 |H#I24£3A158 HERT | RETAR bk i R 130 50 et
264 |S#I24£3A 168 HERT | RETRE bk i S 70 20 2y
265 |#I24£3A168 HERT | RETAR bk i R 130 50 et
266 |H#I24£3A168 FEH FT&ER bk L] R 95 20 2y
267 |&#124£3A168 LWL BT I1E4 bk L R 75 12 2y
268 |H#I24£3A 18R HERT | REEH bk I R 100 50 et
269 |H#I24£3A198 HERT  |REWIL bk i R 80 20 2y
210 |&#I24£3A198 EHH b bk i R 92 30 2y
271 | #24£3A208 HERT | REEH bk i R 110 60 et
272 |[HF243A218 HERT | REWER ®T I R 100 30 et
213 |&#243A218 RN |[PR fibid L R 83 2 2y
274 | &#243A228 KT K bk i R 80 40 2y
215 | &#24£3A228 BREAT AW bk L R 105 76 et
216 |H#24£3A238 MARRT B bk i R 80 30 2y
277 |&#243A238 R |SHRE bk L R 130 60 et
218 |&#I24£3A238 R |SHRE bk L S 65 15 2y
219 |&#243A248 A FHET [11]::] bk # RRER 90 45 5]
280 |H#I24£3A26H MERT BB bk i R 110 50 et
281 |HFI243A268 EHH jall bk L R 128 45 et
282 |#I24£3A 298 KT = bk i R 120 70 et
283 |H#I24£3A308 MERRT B bk i R 90 30 2y
284 |H#124F4A2R KT = bk L] R 110 80 et
285 |f#124F4A3H HERT | REEH bk I R 110 70 et
286 |H#I24F4A5R HERT | REEH bk I R 90 40 2y
287 |H#124F4R6H HERT | REED bk i R 60 20 2y
288 |H#I24£4R108 KT m bk i R 110 60 et
289 |§#I24£4R108 KT m bk L] R 80 40 2y
290 |HFI254A148 R | RE/NDH bk I R 100 60 Pt
291 | f#124£5A9H HERT | REER b= i R 100 EA 33
292 |&#124£5A8H KR LA bk L R 121 60 et
293 |H#I24£5R148 KT &R pA= i R 90 e it
294 | &#I24£5A138 KT FRE bk i R 120 45 et
295 |HFI24E5A128 HERT |REFR bk i R ;) 80 2y
206 |H#I24£5A128 BERT | RE=SK bk i R 130 55 et
297 |&#I24£5R148 -1 hE bk L R 110 30 et
208 |§#I24E5A 148 -1 hE bk L R 14 60 et
299 |HF24E5A148 ZEHT fE i i AR 120 30 [543
300 |H#I24£5A148 -1 hE bk i R 111 30 et
301 |§#124£5A 148 -1 hE bk i R 120 35 et
302 |#I24£5A158 FEH &R bk L] R 90 20 2y
303 |H#I24£5A158 EHH FTya bk L R 118 70 et
304 |H#I24£5A168 HERT | REWIL bk I S 60 15 2y
305 |§#I24£5A158 RRAT | F bk i R 72 20 2y
306 |H#I24E5R17H MERT BE bk g R 120 60 et
307 |§#I24£5A208 MERRT B bk L R 70 30 2y
308 |H#I24£5A208 MERT (R bk L R 120 70 et
309 |#I24£5A22R MERT BB bk i R 110 60 et
310 |H#245A228 -1 —f bk L R 121 35 et
311 | HF245H228 ZEHT —_E bk g 4.3 103 25 et
312 | #245A228 ALK Bee bk i R 120 48 et
313 |H#24£5A298 KT AR pA= L S a1 3 et
314 |H#245A228 =2 )I18T = bk g R 90 30 2y
315 |H#245A218 mRAT | BR fibid L 4.3 162 80 et
316 |H#245A218 RN | F bk i R 126 a1 et
317 |[H#255A238 -1 —BFEE bk I R 121 40 et
318 |H#24£5A26R MERTRE bk i R 90 30 2y
319 |H#24£5A268 KR iR bk i R 100 60 et
320 |H#I24£5A27H RN | F bk i R 112 28 et
321 |H#245A258 HERT | RETRE bk I o3 140 60 et
322 |&#I24£5A27H HERT | REED bk I R 80 20 2y
323 |H#I24£5A278 -1 hE bk i R 149 55 et
324 | #24£5A298 HERAT Ll bk i R 110 40 et
325 |H#I24£5A318 MERT BE bk L R 100 85 et
326 |H#I24£5A308 HRAT | ERAH e I 4.3 115 40 et
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327 |H#I245A308 HERT | REEH bk I R 90 40 2y
328 |H#I24£5A318 % )IBT ¥R bk L] R 146 75 et
329 | HFI246A3R KHgHT RE ®T i R 120 70 et
330 |H#I24£5A318 FERHT |=/E bk L] R 130 45 et
331 |H#24£6AH3A -1 “EFEUA bk i R 96 20 2y
332 | HFI246A3R HERT  |RE5HE bk I R 130 60 et
333 |H#24E6ATH KFHT &= bk i R 120 70 et
334 | H#24£6A5R -1 TEFERE bk i R 124 30 et
335 |fH#I24£6A5R -1 TEFERE bk i R 125 35 et
336 |fH#I24£6H6R % JII8T = bk i R 100 40 et
337 |H#246ATH % )IIBT bl HE |FH| EK 129 40 et
338 | HFI2456A8H HERT | REDME bk i R 124 40 et
339 |H#24£6H8H MERT | ALH bk L] R 85 35 2y
340 |H#24£6A5R mRAT | FE e i R 161 1 et
341 | H#24£6A6R MRFAm | LEA bk L R 138 75 et
342 | H#24E6ATH RR#AT |IKHT bk i R 174 84 et
343 | #2456 A6R 1Lk BT IEq) bk i R 95 20 2y
344 | HFI2456A8H —EHfr PEFHEER bk i R 117 40 et
345 | HFI246A108 FERAT wakR bk i R 60 40 2y
346 |H#I24£6A128 -1 —f bk i R 127 40 et
347 |H#246A128 -1 hE bk L] R 114 30 et
348 | HFI246A 148 KR +iR bk i R 130 80 et
349 | H#I24£6A168 FERAT BE bk i R 50 20 2y
350 |HFI24E6A 148 s Bea bk i R ;) 20 2y
351 |HFN246A18H EHH il T 3 R 100 40 et
352 |H#I24£6A 148 EHH BT bk i R 70 15 2y
353 |H#I24£6A20R KFHT &= bk L] R 70 40 2y
354 |H#I24£6A208 MERRT B bk L R 110 60 et
355 | #I24£6A24R FERAT wakR bk L R 90 60 2y
356 |H#I24£6A24R FERHT  |=/E bk L] R 43 3 et
357 |§#I24£6A26R % JII8T = bk L] R 100 40 et
358 |H#I24£6A27H -1 TEFERE bk I S 67 7 et
359 |H#I24£6A27H -1 TEFERE bk i S 67 6 et
360 |F#I24£6A27H -1 TEFERE bk i S 67 5 et
361 | #2466 A26R i LES B e i R 108 18 et
362 |H#I24£6A28R -1 —f bk L] R 115 30 et
363 |#I24£6A28R -1 —f bk L] R 135 40 et
364 |H#24ETAIR FERAT ERE bk L] R 90 60 2y
365 |H#24TA1R KFHT = bk i R 80 20 2y
366 |H#24E7AH3A KT FRE bk i R 60 6 et
367 |H#247AH3A FEH TE bk L] R 100 45 et
368 |H#24£7AH3A EHH HE bk i R 128 50 et
369 |fH#I24£7H8A BERT | RE=3H* bk i R 130 80 Pt
370 |H#25TA138 HERT | REER bk [l R 88 G 2]
371 | H#247AR138 MAERT  |MEFRHEFI bk i R 90 35 2y
372 | H#247R148 KFHT KHHER bk i R 90 30 2y
3713 |&#247A158 -1 —EE—f bk 0] R 70 5 et
374 | H#24TA168 EHH EHFTEE bk i R 140 30 et
375 |H#247TA 168 -1 —EE—f bk i R 70 5 et
376 |H#247TA 168 -1 —EE—f bk 0] R 76 5 et
377 |&#247R178 FEH FERIE bk I R 100 35 et
378 |H#247A208 EHH EFTARSE xT i $E 30 3 et
379 |&H#247A208 HERT | REWIL bk i R 130 70 et
380 |H#I24£7A218 -1 FEFHIA bk I R 130 40 et
381 |HF25TA218 —EHfr PEFHEER bk 0] R 76 5 et
382 | HF24TA218 —EHfr PEFHEER bk L] o3 71 5 et
383 | HF24TA218 —EHfr PEFHEER bk i R 73 5 et
384 | HF25TA218 —EHfr PEFHEER bk i R 78 5 et
385 |H#I24E7TA24R KHgHT H/ xT i S8 45 4 et
386 | HF24TA248 HERT | RETRE bk I R 110 50 et
387 |H#247A23R KFHT =R bk i R 50 10 2y
388 |H#I24£7TA26R KFHT &= bk i R 70 30 2y
380 | HFI24TA248 EHH INRAF bk L R 75 20 2y
390 | HFI24TA228 HERT  |REINE bk i R 153 62 et
391 |H#247A27R FEH TE bk L] R 100 45 et
392 |H#I24£7A26R EHH GES e i R 112 100 2y
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303 |H#I24£7A298 KFHT =R bk i R 100 50 et
394 | HF24£7A30R KT K pA= L RRBR 106 40 et
395 |f#I24E8A1RH KT RE xT L S8 40 3 et
396 |fH#I24E8A1RH KFHT &= bk L S 60 5 et
397 |H#I24£7A308 EHH x4 bk L R 112 70 et
398 |H#I24E8A1RH MARRT B bk i R 110 50 et
399 |H#247A31A MERTRE bk L] R 90 30 2y
400 |H#I24£7A30B EHH FRIMR bk L R 120 50 et
401 |H#24£8A3R mRAT | BR HE | FBH| EK 68 11 2y
402 | HFI248A3R —EHfr —BFEE bk i S 89 8 et
403 | HFI248A3R —EHfr —BFEE bk i S 85 8 et
404 | HFI248A1RH % )II6T =% bk L R 147 40 et
405 |f#124£8A2R % )IIBT bl bk i R 121 30 et
406 |H#24£8A2R % )IIBT bl HE | FBH| EK 135 32 et
407 | HFI248A4R i LES B bk i S 65 8 et
408 |H#I24£8A4R KT FRE bk i S 50 10 2y
409 |H#24£8A4R EHH =@ bk L] R 120 55 et
410 | H#124£8A6R KT FRE bk i S 50 5 et
M1 | H#248A6R KT FRE bk L S 60 10 2y
M2 | H#24£8A5R BERT | RE=SK bk i R 135 85 et
M3 | H#248A9R FERT |FB bk L R 120 45 et
A4 | H#24£8A6R MERT (R bk L R 110 50 et
M5 | H#24£8A8H KFHT &= bk L R 120 90 et
416 | F#24£8A9R KFHT &= bk i R 120 50 et
M7 | H#24E8A9R KT FRE bk i R 60 12 2y
M18 | H#24£8A9R KT FRE bk L R 60 12 2y
M9 | H#248A9R KT EX# bk L] R 60 10 2y
420 |H#124£8A9R KT EX# bk L] R 60 10 2y
21 | H#M24E8ATH FEH = bk L] R 120 60 et
422 | H#M248A11R EHH B e i R 79 38 2y
423 | H#24£8A8H EHH B e i S 78 25 2y
424 | H#24E8A8H EHH B fibid L] S 78 25 2y
425 |H#124£8A8H EHH B e L] S 78 25 2y
426 |H#248A11R KFHT &= bk L S 70 15 2y
427 | &#248A11H KFHT &= bk L S 60 10 2y
428 |H#I24£8A 108 % )IIBT bl bk i R 128 34 et
429 |H#248A11R HERT  |REWIL bk i R 130 55 et
430 |H#24£8A 128 FERT  |HA bk L R 130 45 et
431 | H#248A 128 MR#AT | IKHT bk L R 106 21 et
432 | HF248A5RH FERMT |FR bk i R 90 40 2y
433 | H#24£8A 138 EHH =@ bk L] R 100 50 et
434 | H#24£8A 158 KFHT &= bk L S 60 7 et
435 |H#I24£8A 168 EHH FR bk L R 110 56 et
436 |H#I24£8A 18R MERTRE bk L] R 100 30 et
437 |H#248A218 KFHT = bk i S 60 10 2y
438 | H#I24£8A 23R KT FRE bk i R 110 60 et
439 | H#248A218 -1 —BFEE bk 0] R 133 50 et
440 |HFI24£8A 248 MERT BE bk L R 100 50 et
441 | H#I24£8A 23R EHH ®E bk i R 129 60 et
442 | H#I24£8A25R FERAT ZRER bk i R 120 80 et
443 | HFI248A 258 —EHfr —f bk i R 80 8 et
444 | HFI24£8A218 EHH HE bk i R 110 50 et
445 | H#I24£8A 23R EHH xF HE |FH| EK 80 25 2y
446 | HFI24£8A26R KFHT m bk i S 50 6 et
447 | H#I24£8A27H -1 hE bk L R 150 70 et
448 | H#24F9A1RH KT FRE bk i R 60 15 2y
449 | H#2459A1R EHH FRIMR bk L R 140 60 et
450 |HFI249A1R % )II6T =% bk i R ;) 40 2y
451 | H#24F9A 3R KT FRE bk i R 120 80 et
452 | HFI249A3R -1 FEFHIA bk I R 158 60 et
453 |H#24F9A3R -1 ZEFEUA bk i o3 143 60 et
454 | 5FI24F9A4R % )II6T =% pA= i S8 46 2 et
455 | H#24F9ATH -1 —BFELF bk i R 134 60 et
456 |F#24F9ATH KT [i1]:: bk g R 120 80 et
457 |S#24F9A8A KT FRE bk i S 60 7 et
458 |H#I24£9AR108 AMERRT B bk i R 90 30 2y
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459 |H#24£9AR108 -1 TEFOE bk i S 76 5 et
460 |H#I24£9AR108 HERT | RETRE bk i R 110 40 et
461 |H#24£9A118 KT EX# bk i S 60 12 2y
462 |H#24£9A118 KT &= bk i S 60 7 et
463 |H#24£9A 148 KT FRE bk i S 60 12 2y
464 |HF24F9AR 148 KT FRE bk i S 60 10 2y
465 |H#24£9AR 148 KT &= bk L S 60 8 et
466 |H#24£9A 158 MERT BE bk L R 120 80 et
467 |H#24£9A158 FEH FT&ER bk i R 120 70 et
468 |H#I24£9A 168 KT &= bk i S 70 15 2y
469 |H#I24£9A 168 KT &= bk i R 110 45 et
470 |H#24£9AR17H FEH &R bk i 4.3 110 35 et
AT | H#24E9AR17H =2 )I18T = bk L R 163 64 et
472 | H#24£9A 188 FEH RH bk i R 65 45 2y
413 | H#24£9A 188 HERT | RETAR bk I R 60 10 2y
474 | H#249A238 EHH 5B bk i R 80 12 2y
475 | H#24£9A 23R EHH 5B bk i R 80 12 2y
476 |DF249A 238 ZEHT —_E bk ] i 4.3 115 30 et
477 | H#249A238 -1 —f bk i R 131 50 et
478 | H#24£9A 23R KT FRE bk L R 60 15 2y
4719 | H#249A238 KT FRE bk L R 60 15 2y
480 |H#I24£9A 23R BERT | RETRE HE |(FB| FH ;) ;) et
481 |H#I24£9A 248 HERAT Ll bk i R 140 40 et
482 | H#I24£9A 248 MERT BE bk L R 80 45 2y
483 |H#I24£9A24R BERT | RE=sK bk i R 130 45 et
484 | H#I24F9A 248 BERT KRR bk i R 80 25 2y
485 |HFI24F9A248 HERT | REINE bk i S 64 6 et
486 | HFI249A248 HERT | REINE bk I S 66 6 et
487 |S#I24£9A25R KT [17]::] bk i S 60 12 2y
488 |H#I24£9A25R KT &= bk i R 70 20 2y
489 |H#I24£9A 28R EHH L HE | FBH| EK 100 50 et
490 |H#I24F9A29R EHH g bk i S 80 12 2y
491 | H#24£9A298 MARRT B bk i R 70 20 2y
492 | HFI259A298 FERT |FB bk L S 80 9 et
493 | HFI259A298 FERT |FB bk i S 80 9 et
494 | HFI24E9A 298 HERT | RETAR bk I R 60 15 2y
495 |#I24£10A 18 MERT RF bk i R 50 20 2y
496 |HFI24E10A18 KT &= bk i R 70 15 2y
497 |S#24£10A28 HERT  |REWIL bk I R 110 55 et
498 |H#I24£10A58 HERAT B/ L bk L S 80 7 et
499 | HFI2510A58 HERAT ERER bk L S 80 8 et
500 |§#I24£10A58 KFHT = bk L] R 90 25 2y
501 |§#124£10A58 HERT | RETFAR bk i R 80 30 2y
502 |HFI2510A58 HERT | REFLS ®T I S 75 15 2y
503 |#I24£10A7H KT &= bk i R 70 15 2y
504 |&#I24£10A7H EHH g bk i R 80 15 2y
505 |§#124£10A8H FEH = bk i 4.3 105 37 et
506 |HF24E10A98 ZEHT fE i I} AR 102 25 [543
507 |&#124£10A98 BARET | EL bk i R 85 55 2y
508 |§#I2410A138 |B#gETH |=/ 8 bk 3 24-3 150 70 2y
509 |F#2410A138 |HEERTH |[REEW bk ] 24-3 140 65 2y
510 |H#2410R148 | BFARET  |B0AE bk # 24-3 80 12 et
511 |F#210A148 | K3HHT F*E bk # 24-3 70 20 et
512 |H#2E10A148 | K3HHT 3 bk ] 24-3 100 50 2y
513 |F#2E10A148 | K3HHT = bk ] 24-3 120 90 2y
514 |H#2410A148 |¥HH TE bk i 24-3 85 15 et
515 |§##2410A168 |B##ET /W bk ] 24-3 85 12 et
516 |##2410RA168 |F##ET |/ W bk # 24-3 85 12 et
517 |§##2410RA168 |F#F#FET /W bk i 24-3 85 12 et
518 |F#24E10A168 | K3HHT = bk # 24-3 70 20 et
519 |H#24E10A168 | K3HHT kil bk i 24-3 110 60 2y
520 |§#I2410R168 |B#gFETH |=/ 8 bk 3 24-3 90 15 et
521 |§#2410R168 |B##FETH |=/ 8 bk 3 24-3 90 15 et
522 |§#I2410R168 |B#gFETH |=/ 8 bk 3 24-3 90 15 et
523 |H#24E10A198 |M#RET ] bk % 24-3 110 60 2y
524 |HF24E10A198 | K3HET F*E bk i 24-3 110 70 2y
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525 |$F2E10A198  |A#ET |l mE | # | 2R 70 15 et
526 |HF#2410A198 KBET /el nE 3 243 140 100 =35
527 |$#2410A198 KBET RE nE 3 243 120 60 =33
528 |F2E10A198  |BAT MR mE | # | 2R 50 30 pt
520 |4W2E10A19H |MA® | EHE mE | # | 2R 145 70 e
530 |&W2410A19H  |[BEASH  |[RETRE AE | # | BR 80 % i
531 |&W2410A16H  [BMAH  |[RETRE AE | # | BR 65 2 i
532 |&W2410A16H  |[BMAH  |RETRE AE | # | BR 120 60 e
533 |$F2E10A168  |MAm  |AM mE | # | 9B 50 10 pt
534 |F2E10A21E  |AHET M mE | # | 2R 60 15 pt
535 |SF2E10A218  |AFHET  |BE mE | # | 2R 60 15 pt
536 |SF2E10A228  |hIET  |HE AE | | BR 60 50 pt
537 |$F#2410A228 i) #/0 it M 243 50 20 =35
538 |&W2410A228 | FEH ER mE | # | 2R 120 60 e
530 |$FI2E10A23A  |WikAT [N AE | M| mR | 75 15 pt
540 |$F2E10A238  |AHET  |RE mE || 2R 80 2 pt
541 |$M2E10A23E  |KHET BB mE || 2R 100 % e
542 |$F2E10A23E  |A#ET | mE || 2R 60 10 pt
543 |&W2410A26H  |[BEMATH  |[REXL AE | # | BR 140 75 e
544 [$702410A268 |8MFT |SETRE T HEIED 100 35 Bt
545 |&W2410A26H  |[BEAT  |[REXL AE | # | BR 100 40 e
546 |SFI2E10A268  |hstET @ mE | # | 2R 120 70 e
547 |$M2E10A268 |REET  |[WER AE | # | BR 60 2 pt
548 |$F2E10A268 |[®HT  |hE AE | # | BR 150 60 e
540 |$FI2E10A268  |hIET  |BR mE || 2R 105 60 e
550 |$FI2E10A26H  |AMET | ESAM mE || 2R 104 15 e
551 |$F2E10A25A |[®Bm  |gE AE | | BR % % pt
552 |$FI210A25E |hET  |$#/ 0 mE | # | 2R 120 80 e
553 |HF#2410A26H th3HHEr Elq::] nE 3 243 80 130 =43
554 |$F2E10A25A [MERT | REIR AE | | BR 120 62 e
555 |FI2E10A25H  |FRRT BN mE || 2R 88 12 pt
556 |FI2E10A28A  |FEW 1B mE || 2R 105 75 Bte
557 |$MI2E10A268 |KFET  |BE mE | # | 2R 60 15 pt
558 |SFI2E10A2TE  |A#ET |l mE | # | 2R 100 2 e
550 |4FI2E10A27E  |hER® | LEB mE | # | 2R 110 % e
560 |$FI2E10A28E |KFET  |BE mE | # | 2R 70 15 pt
561 |$FI2E10A28E  |AET | mE || 2R % % pt
562 |$F2E10A208 |—BE  |FETEAS AE | | BR 110 40 e
563 |HF#2410A298 MERTE (BRI nE M 243 110 60 =33
564 |SFI2E10A208  |KFHET BB mE || 2R 110 30 e
565 |SFI2E10A208  |AHET  |RE mE || 2R 120 50 e
566 |SFI2E10A30H  |AHET  |E mE || 2R 60 15 pt
567 |$F2E10A28E  |hET /0 mE | # | 2R 100 60 e
568 |$FI2E10A308  |hET  |HE AE | | BR 60 2 e
560 |$FI2E10A308  |hET  |HE AE | # | BR 60 2 pt
570 |®%2510A31H  [h3tr [/ OEEW mE | # | 2R 100 40 e
571 |®%2510A31H  [h3tr  [#/ OEEW mE | # | 2R 134 80 e
572 |$M2E10A31E |—&ET  |-BFFESF mE | # | 2R 102 30 e
513 |$F2E10A208  |MERT | WRoE AE | # | BR 140 75 e
574 [$M2E1ATE K0T BE mE | ® | B 100 2 pt
575 |&W2g11A2E  |—BET  |HE mE || B 08 15 e
576 |&W2411A3E  |hstEr  |#8 AE | K| BR 115 60 pt
577 [$M2E11A38 |hstlr  |Me AR |FH| R 65 20 B
578 [$M2E11A48 |Wikar  |ER mE | ® | BR 80 13 e
579 |S#24E11848 MART i [1:3 24 110 70 =35
580 [SR2E11ASE  |AJET  |@E mE | ® | BR 70 15 e
581 |¢W2%11A3E  |[BHFH | RETH mE || B 85 10 e
582 |&F2%11A2E  |®BH W) AR |FH| R 100 40 i
583 |&W2411AGH  |M@HT @Ot mE || B 100 15 e
584 |&F2411AGH  |M@HT @Ot mE | ® | BR 95 12 e
585 |&W2E11AGH  |MMET  |BMEARE AR | # | BR 9 13 e
586 |&W2411A8H  |M@HT  |BoL mE | ® | BR 95 15 e
587 |@M2E11A8E  |MMAT  |BEAET AR | # | BR 9 15 B
588 |&F2%11ASE  |F®EH | AW AR | # | BR 120 2 e
580 |&¢W2%11ATH  |F®EM |=/B mE || B 80 1 e
590 |¢m2%11ATE  |®BH  |BEA mE | ® | B of 60 e




&5 %R H BT+ RRIBM SRR A | BERES | R (m) | 4E (Ke) RERR
591 |§#2411A78 KT m bk L 4.3 120 90 et
592 |&#I24£11H8R KT FRE bk L R 110 70 et
593 |H#2411H98 KT &= bk i R 130 110 2y
594 |&#I24£11H8A8 FEH =i bk L 4.3 135 70 et
595 |#I24£11H98 HERAT ERERT bk i R 150 98 et
596 |H#I24£11H8A HERT | REWER bk i R 130 60 et
597 |R{F2E11A100 |=EH —BFERE bk i 24-3 99 15 et
598 |H#I24£11H8R HERT |REFR bk i R 120 56 et
599 |f#I2411H8R EHH 5B bk L R 100 25 et
600 |{F2F1MANA  |ZEH —BFH s BF bk i 24-3 101 20 2y
601 |F#2E11A128 | K3HHT =B bk ] 24-3 80 15 et
602 |F#2E11A128 | K3HET F*E bk # 24-3 130 110 et
603 |F#I24£11H68 KR L#E bk L R 110 60 et
604 |H#2411A138  |[WEERT |[REEW bk ] 24-3 120 50 2y
605 |fHF2411A148  |[#EEIRT |ﬁl2¥m bk i 24-3 90 25 et
606 |F#2E11A148  |[EERT |[REW®L bk i 24-3 170 105 et
607 |H#2411A148 |H#RET BERERT bk ] 24-3 150 59 2y
608 |F#211A11A |M#RET BERERT bk i B 80 8 2y
609 |F#2411A138  |¥HFH T&HiR82943E bk ] 24-3 90 20 et
610 |F#2411A138 | KB4ET REFRyEY bk i 24-3 100 2 2y
611 |F#2E11A138 | KBET ERFEMR bk i 24-3 90 20 et
612 |F#24E11A138 | KBAET AMETETE bk ] 24-3 85 20 et
613 |F#24E11A158 | KB4ET FER bk ] 24-3 90 50 et
614 |H#2411A168 |M#RET REHHMA bk ] 24-3 120 26 2y
615 |H#24E11A168 |M#RET BERERT bk i 24-3 90 13 et
616 |F#2E11A148 | K3HET =B bk ] 24-3 100 60 2y
617 |H#2511H168 | K3HHT =B bk # 24-3 90 30 et
618 |H#2411H168 |EXH iR bk ] 243 50 30 et
619 |fF2EN1MA17A  |MERH |[BI bk ] 24-3 80 20 et
620 |FF24E11A168 |R3HET BR bk ] 24-3 80 35 et
621 |F#2E11A178 |R3HET #/0 bk i 24-3 100 80 2y
622 |FF2E11A178 |R3HET e bk ] 24-3 115 40 2y
623 |HF2E11A108 |h3HET LE bk # 24-3 150 130 et
624 |HF24E11A248  |hERT BN bk ] 24-3 110 80 2y
625 |H#2411A238 |#EBRT |[REFAR bk i 24-3 65 25 et
626 |F#24E11A258 |[HEERT |[REEW bk ] 24-3 75 25 et
627 |H#2E118198 T HT #/0 mE # 243 95 30 [543
628 |FF2E11A198 |h3HET #/0A bk # 24-3 95 30 et
629 |HF24E118238 T HT #/0 mE ] 243 82 20 [543
630 |F#24E11A238 |h3HET R bk # 24-3 135 80 2y
631 |H#2411H208 |REFH FERMNR bk i 24-3 55 35 et
632 |H#2411A248  |REFT FERMNR bk # 24-3 140 100 et
633 |{F2F11A2710 |=EH —BFREA bk ] 24-3 110 15 2y
634 |HF24E11A288 | K3HET [LT]::] bk ] 24-3 80 25 et
635 |F#2411A278  |deEr &l bk # 24-3 80 30 et
636 |{F2E11A300 |—EH —ATAE bk ] 24-3 111 30 2y
637 |F#24E11A308 |h3HET BR bk ] 24-3 95 30 et
638 |FF24E11H268  |h3HET #/0A bk # 24-3 85 25 et
639 |F#2411H268  |FHFH TE bk ] 24-3 100 40 2y
640 |FF24E11H268  |R3HET Hep bk # 24-3 82 25 et
641 |H#24£11H288 |+ Bra bk ] 24-3 104 95 2y
642 |H#24£11A288 |[#@#ERT  |[REPR bk i 24-3 10 75 et
643 |H#2412A18 HERAT ERBRL bk I R 150 60 et
644 |H#2412A18 FERT =B bk g R 95 35 2y
645 |H#I2412A18 FERT =B bk i R 95 35 2y
646 |H#I24£12A28 KT FRE bk i R 150 132 2y
647 |&#2412A28 MERT | EE bk i R 70 15 2y
648 |H#I2412A18 HERT |REFR bk i R 115 70 et
649 |H#2412A28 LWL BT RN bk g R 80 30 2y
650 |F#I2412A38 FEH TE bk i R 160 150 2y
651 |#2412A38 HERAT Ll bk I R 80 12 2y
652 |H#2412A38 HERAT Ll bk i 4.3 170 68 et
653 |H#2412A38 Y EET % bk L 4.3 110 50 et
654 |H#2412A7H KR iR pA= g R 120 80 et
655 |H#I24£12A 68 HERT | REED bk I R 130 55 et
656 |F#2412A7H KT &= bk i R 70 15 2y




&5 £8H T ZRBH BRRE (13| RERS [ fECn | 4EK) | BERE
657 |&M2E12A6E  |AsET  |@E mE || B 130 % et
658 |HF24E12A6H BT —f i 3 23 107 35 =35
659 |&#2411A308 |hstlr  [#/0 mE | # | 2R 120 75 e
660 |&F2%12ATH  [hstET WA mE || B 100 % pt
661 |&W2E12A8E  |AsET  |@E mE || B 80 15 B
662 |$F#N24£12A88 — =T —f W [l}3 5723 101 25 [=3i3
663 |&W2%12A3E  |®Bm  |WE AR | # | BR 160 100 e
664 |DF24E12848 1IE[4:) sEN i 3 23 120 50 =35
665 |&F2E12ATH  |WikET  [EE mE || B 70 20 e
666 |SF2E12A108  |KHET |G mE || 2R 120 80 e
667 |$F2E12A11E  |—BE | hEFHE mE | # | 2R 135 50 e
668 |®F2E12A128  |FEW  |BAR mE | # | 2R 110 % e
669 |&W2E12A10H  [BMAH |[REFR mE || 2R 105 38 e
670 [$%2412A108  |[BEAT |REIIRE mE | | gm 50 15 Bt
671 |$m2E12A118 &R |REHF mE | ® | RK 125 13 i
672 (72412138 |[BEAT |[REXTR mE | | mm 130 70 Bt
673 |&M2512A138  [BERT  |RE/1H AE | # | BR 110 40 e
674 |&W2%12A138  |FEH  |[FER mE || 9B 80 8 e
675 |$M2E12A13E  |KHET BB mE | # | 2R % 15 pt
676 |&M2%12A14H  |®BH  |RER mE || 2R 122 % e
671 |¢M2%12A9E  |®BH =@ mE | ® | B 60 40 e
678 |&W2%12A1H  |®HH W AE | K| BR 70 40 e
619 |4M2%12A9E  |®Bm =@ mE || B 60 40 e
680 |&F2E12A14H  |MBET  |BEERT AE | # | wa 160 63 e
681 |F2E12A168  |FEW 1B mE | # | 2R 105 30 e
682 |®F25 127168 | BARE  |ELEEW mE || 2R 115 75 e
683 |SR2E12A15A |KHET |G mE | # | 2R 120 80 e
684 |$F2E12A168  |WEET  |F mE | # | 2R 110 60 e
685 |®A26F12A17H  |MEET  [EILRREE mE | # | 2R 120 6 e
686 |&W2412A208  [BEAH  |REEM mE || 2R 70 % i
687 |$F2E12A198 |MERH | AE | # | BR % 40 pt
688 |SF2E12A198  |MERH | AE | # | BR % 40 pt
680 |SF2E12A18A |KHET |G mE | # | 2R 150 130 i
690 |$F2E12A198 |KHET |G mE | # | 2R % % pt
691 |&W2E12A12H  |®BH | AE | # | BR 85 30 pt
692 |HF#2412A18H i) #/0 it 3 243 90 30 =35
693 |$F2E12A208  |hET  |BR mE | # | 2R 85 30 pt
694 |$F2E12A218  |hET  |BR mE || 2R 120 80 e
695 |&F2E12A18H  |MMRET  |BMABL AE | # | BR 80 16 pt
696 |$F2E12A21E  |A#ET  |& mE | # | 2R 80 40 pt
697 |$M2E12A228  |KHET BB mE | # | 2R % % pt
698 |&W2E12A22H  [BEAT  |RETRME AE | # | BR 80 % i
699 |¢F2E12ANE  |—EmET  |hE mE | # | 2R 175 80 e
00 |#72F12A238  |AH#ET |l mE | # | 2R 100 40 e
01 |[$M2E12A248  [AH#ET  |@E mE | # | 2R 80 2 pt
02 [#M2E12A258  |MMEAT B/ L mE | # | 2R 126 50 e
03 [#M2E12A258  |MET BB/ T mE | # | 2R 80 13 pt
04 [$M2E12A250  |[MEET  [REBEREWL AE | # | BR 120 80 e
05 |#72512A268  |MERH | LER mE | # | 2R 80 15 e
106 |[$F2E12A58 | AME  RAL/E mE | # | 2R % % i
107 [$72512A258 | AWET  REL/E mE | # | 2R % % et
08 |$F2E12A58 AW REL/E mE | # | 2R % % i
709 |$f24£12A298 KBET &R nE 3 243 141 70 =33
70 [#M3F1AIE |M@HT  [m&% mE || B 110 ) e
M |[$m2E12A208  [AsET  @E mE | # | 2R 120 75 e
72 |[#MsEIR4E |[hERE RN AE | K| BR 120 50 e
713 |$Ff3E1A28 — =T —f W 3 5723 110 55 [=3i3
714 [#M3%1A5H  |M@ET | RARLE mE | ® | BR 120 40 pt
115 |#72F12A288  |—&ET  |HTE mE | # | 2R 120 100 e
716 [#M2F12A218  |F3AT  [#/0 mE || 2R 100 5 e
17 [##3%1A28 k3T |BR mE | ® | BR 125 100 e
118 |#72F12A288  |—&ET  |HTE mE | # | 2R % 30 pt
719 [#M3F1A3E  |—mWr  |—@& mE | ® | BR 03 30 B
720 |SF3%E1A5H8 i #/0 i [l:3 23 125 65 =35
121 [$M3F1A2E  |EEH®  |%W AE | K| BR 95 30 e
122 [$M3FIA3E | K#ET  |@E mE | ® | B 9 % e
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723 | H#8%1A4H HERT | RETAR bk i R 60 20 21
124 | S#8%1A5H HERT | RETAR bk i R 60 20 B
725 | S#8%1A6H HERT  |REWIL bk I R 130 55 et
726 | HFSEIATH FEH TE bk i R 105 25 et
121 | S#8%1A9H HERT | RETAR bk i o433 80 25 21
128 |H#841R8H —EHfr —BTRE bk I R 118 25 et
729 | #8%1A8H HERAT R bk L] R 90 18 2y
730 | f#SE1A4H EHH B fibid L 4.3 130 60 et
131 | H#8E1ATH EHH g e L] R 80 20 2y
132 | H#8E1A9H HERAT EHLL bk i R 180 83 et
733 | H#SE1A9H HERAT ERERT bk I R 80 14 2y
134 |H#8F1R14A8 MERRT B bk L R 65 20 2y
735 |fFSE1A13H ALK B7# bk L R 140 80 et
736 | HFSE1A13H ALK B # bk I R 110 40 et
131 | ¥#8%1A13H HERT | RETAR bk i o433 10 25 21
738 | ¥fSE1A14H HERT | REWIL bk i R 120 60 et
739 | ¥f8E1A15H MERT BE bk L R 60 20 2y
740 | SFBE1A15H FERAT wakR bk i R 90 40 2y
41 | Sf8E1A15H MERT BE bk L R 50 15 2y
142 | ¥f8E1A16H KFHT =R bk i R 110 60 et
743 | ¥f8E1A16H Y EET Kl E bk L] R 120 95 et
744 | SFBE1A1TH MERRT B bk i R 120 60 et
745 | HfSE1A18H HERT | REEMT bk I R 120 90 et
746 |HFBF1R19A —EHfr PEFHEER bk 0] R 96 20 2y
141 | S#8E1A19AH HERT | REWER bk i R 130 60 et
748 |HF3E1A218 —EHT —&FaHA bk ] 3 4.3 115 30 et
749 | f8€1A20H HERAT Sl bk i R 115 42 et
750 |ff8%E1A22H -1 —BFERE bk i R 110 30 et
751 | ¥f8%1A22H -1 TEFOE bk I R 107 30 et
752 | ¥f8%1A22H KT &R bk i R 123 40 et
753 | ¥f8%1A23H HERT | REWER bk I R 130 65 et
754 | f8%1A25H MERRT B bk L R 100 45 et
155 |f#8F1R17A EHH FH bk i R 110 40 et
756 | Hf841A25H Y EET WEW bk i R 130 80 et
157 | ¥#8%1A22H LN SRl bk i R 133 60 2]
758 |Hf8%1A28H HERAT FRBRL bk i R 100 28 et
759 |ff8%1A28H HERT | RETRE bk I R 130 75 et
760 |fF841A30H -1 —BEREET bk I R 110 30 et
761 |H#851R29A -1 —BFERE bk i R 138 80 et
762 | 4f841A308 -1 KEA bk L R 128 50 et
763 | H#841A30H MERT (R bk i R 110 50 et
764 | Sf8E1A27H EHH i bk L R 100 35 et
765 |Hf8%1A31H Y EET % bk i R 70 20 2y
766 | HFI3E2A1H FEH =i e L] R 120 60 et
767 | ©#842A3H FERAT BE bk L R 100 50 et
768 | H#I342A3H -1 FEFHITF bk i R 170 80 et
769 | H#8%2A4H BARET  |HER ®T i S 64 7 et
770 | S#8%2A2H KR iR bk i S 50 30 2y
1 | $#8%2A3H HERT | REWER bk R 105 50 et
1712 | #8%2A5H MARRT B bk L R 65 20 2y
113 | $#3%2A6H KT FRE bk g R 110 50 et
7714 | #3%2A6H KT [i1]:: bk i R 70 15 2y
715 | ©#84%2A5H FERT |FB bk L R 90 21 2y
776 |HF3%2A5H AT #/0 bk i 4.3 80 125 =43
177 | $#8%2ATH PFHET iR bk i R 90 40 2y
7718 | ©#8%2A8H PFHET R bk i R 129 50 et
719 | ©#8%2A8H =2 )I18T = bk i R 120 50 et
780 |H#I3%2A8H KR iR bk i R 100 70 et
181 |f#8%2R/108 HERT  |REEE ®T i R 130 50 2]
782 | H#8%2ATH HERT | REEMT bk I R 120 80 et
783 | ©#I342A8H LWL BT RN bk i R 80 25 2y
784 | FI3%2A9H EHH iR bk L R 75 20 2y
785 |F842A10H BARET SR bk i R 80 20 2y
786 | HfSE2A11H -1 —BFEE bk i R 143 60 et
787 |f#842A108 FERT |FB bk i R 140 89 et
788 | HfS42A11H HERT | REWER bk i R 120 55 et
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789 |¥f842A11H KT &R bk L R 85 25 2y
790 | F842A13H -1 bk g R 107 30 et
791 | ¥#8%2A11H KT /N bk L R 125 70 et
792 | ¥#842A11H ALK Bra bk L R 80 50 2y
793 | 4#842A13H HERT | RETAR bk I R 85 25 [y
794 | £#8%2A13H F8Rm |=/8 bk i R 140 83 2]
795 |ff842A14H HERAT |/ L bk i R 110 55 et
796 | Hf842A11H Y EET WEW bk L R 120 70 et
797 | ¥#842A14H Y EET WEW bk L R 120 90 et
798 | Hf842A14H EHH FRIMR bk i R 137 80 et
799 | ¥#8%2A14H b ALK Bra bk i R 80 15 21
800 |H#I34£2A 148 b ALK Bra bk [l R 80 15 B
801 |H#I342AR148 LWL BT BRE bk i R 90 25 2y
802 |H#I342A148 LWL BT BRE bk i R 90 25 2y
803 |H#I342A16R % )IIBT ¥R bk i R 115 21 et
804 |H#I34£2A 18R MERT (R bk i R 120 70 et
805 |H#I342A20R MARRT  |A£A bk i R 85 20 2y
806 |H#I3E2A198 KT &R bk i R 125 52.5 et
807 |H#342A218 HERT | REEMT bk i R 130 80 et
808 |H#I342A21H HERT | REEMT bk I R 80 20 2y
809 |H#34F2A218 KR tRES AR bk i R 80 40 2y
810 |H#342AR17H PFHET iR bk L R 107 45 et
811 |H#342A218 PFHET =E L] bk i R 100 30 et
812 |H#342A218 PFHET iR bk i R 115 60 et
813 |H#342A23R PFHET R bk i R 133 100 2y
814 |H#342A24R HERT | RETRE bk i R 90 30 2y
815 |§#342A208 F8RM |=/8 bk L] R 110 20 et
816 |H#342A24R BARET  |HER bk i R 120 65 et
817 |&#342A24R -1 —BFHEAF bk i R 128 35 et
818 |H#I342A23R HERT | REEBI bk i R 140 100 2y
819 |H#342A26R BARET  (BAE bk L R 60 20 2y
820 |H#I34£2A26H FEH =i bk L 4.3 115 65 et
821 |&#I34£2A28R HERT | RETE bk I R 70 20 2y
822 |&#I34£2A 28R HERT | RETE bk I R 130 90 et
823 |H#34E2A27H EHH x4 bk I R 70 20 [y
824 |H#34E3A1H FRBRT B/ A bk i R 140 a4 2]
825 |f#I34£3A2A KT FRE bk i R 100 25 et
826 |H#34E2A27H LWL BT | bk i R 150 65 et
827 |H#34£3A3H BERT | REXBE b= [l R 15 FE Bt
828 |H#34£3A3A FERT | LHE bk i R 80 21 2y
829 |f#34F3AS5H FERAT BE bk L R 55 13 2y
830 |f#34F3A5A FERAT BE bk i R 60 15 2y
831 |f#34F3A6H MERT (R bk I R 70 20 [y
832 |f#34F3AS5H E5H EEREMBHR bk [l R 85 45 B
833 |f#343A8A FERAT wakR bk i R 60 40 2y
834 |f#34£3A8H KFHT &= bk g R 70 15 2y
835 |f#I34F3A8H AMERT (R bk i R 100 60 et
836 |fH#N34FE3A6H ALK Bra bk i o3 15 12 21
837 |H#34F3IATH KR LA bk i R ;) 60 [y
838 |f#N34F3A9H E5H EEREMBHR bk [l R 72 20 21
839 |H#34F3IA9A FERAT oA ] bk i R 100 70 et
840 |H#34F3A9A KT FRE bk L R 90 30 2y
841 |H#34F3A9A BARET  |HER bk i R 100 15 et
842 |H#34E3A9A BARET  ELEEL bk I R 110 20 et
843 |H#34F3IA9A FERT |FB bk i R 112 80 2]
844 |H#34F3A9A MART  |IIZH bk g R 110 70 et
845 |H#I343A 108 -1 —BFERE bk i R 102 25 et
846 |H#I34E3A 148 FERAT ERE bk L R 50 20 2y
847 |H#343A 148 HERT | REWER bk I R 140 85 et
848 |H#I343A 158 EHH x4 bk L R 108 20 et
849 |H#I34£3A 18R -1 —f bk i R 124 30 et
850 |F#I343A208 FEH TE bk L R 110 50 et
851 |H#I343A208 KT &= bk i R 100 20 et
852 |H#I343A22R KT &= bk g R 110 40 et
853 |H#I343A23R HERAT |/ L bk i R 100 20 et
854 |HF34E3A22H 3 JIET = bk I 4.3 120 70 et
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855 |H#I343A23R F8Rm |=/8 bk i R 90 18 2y
856 |H#I34E3A23R F8RM |=/8 bk i R 148 85 et
857 |HFN34E3A24H EEH TE bk ] L 4.3 134 80 et
858 |H#I343A20R PFHET R bk L R 128 75 et
859 |H#I34E3A23R HERT | RETFTARFE bk i R 70 20 2y
860 |H#I343A23R HERT | REER bk i R 60 15 [y
861 |f#I343A27H b ALK BT # bk i R 155 75 2]
862 |H#I34E3A24R F8RM |=/8 bk i R 90 13 2y
863 |H#I34E3A22R EHH FH bk i R 80 30 2y
864 |H#I34E3A25R EHH L bk L R 90 40 2y
865 |H#I343A208 EHH EW bk i 4.3 150 100 2y
866 |H#I34E3A29R FERT |FB bk i R 110 68 et
867 |H#I34£3A28R ALK BRra bk L R 140 68 et
868 |H#I343A28R HERT | RERMTEXEL bk i R 130 80 et
869 |H#I34E3A29R =2 )II8T = bk i R 90 10 [y
870 |H#134£3A308 LN tRAR bk [l R 10 40 21
871 |&#3%F4A2R KT mELE bk i R 80 15 2y
872 |H#34F4R4R HERT | RETE bk i R 105 40 et
873 |H#34F4A8H BARET  |HER bk i R 85 12 [y
874 |&#34£4A108 ALK BT # bk i 533 100. 5 20 2]
875 |&#I34F4A168 HERT | REFELS bk i R 130 60 Pt
876 |H#I34£4A208 LN iR b= [l R 100 20 2]
871 |H#3%F4A218 HERT | REINE bk I R ;) 26 2y
878 |HFI3%F4A238 LWL BT .| ®T i R 109 30 et
879 |H#344A238 FERMT Kl b= i R 120 35 2]
880 |H#I344A23R KT =R bk I R 120 85 et
881 |f#I34£4A25H HERT  |[REDR b= [l R 110 50 2]
882 |H#I344A27H % )IIBT hRNEFWL bk I R 133.5 50 et
883 |H#I344A28R KT FRE bk L R 100 35 et
884 |H#I34E5A3R FEH TE bk L R 115 30 et
885 |f#I34E5A3R KT &= bk i R 90 35 2y
886 |H#I3F4A25R EHH HE bk L R 85 30 2y
887 |f#345A2R FEH &R bk L 4.3 131 60 et
888 |f#I34E5A6H KT &= bk L R 90 25 2y
889 |f#I34E5A5R KR L#E bk L R ;) ;) et
800 |H#I34E5A108 KT FRE bk i R 100 35 et
801 |§#I345A108 KT FRE bk i R 80 25 2y
802 |H#I345A118 BREAT AW pA= L R 120 50 et
803 |H#I345A128 KT FRE bk i R 110 60 et
804 |H#I34E5A 128 KT RE bk L R 100 25.7 et
805 |H#I345A 128 KT RE bk L R 95 18.7 2y
806 |H#I34E5A 128 F8RM |=/8 bk i R 140 75 et
807 |H#I345A148 KT FRE bk i R 80 20 2y
808 |H#I34E5A16R BERT KRR bk i R 13 140 et
809 |H#I34E5A 148 HMRAT | WF bk I R 118 28 et
900 |##134£5A 188 F8Rm |=/8 bk I R 130 55 2]
901 |H#I34£5A208 FEH TE bk L R 105 23 et
902 |H#I34E5A208 KT FRE bk i R 90 35 2y
903 |H#I34E5A208 -1 hE bk i R 115 35 et
904 |&#I34E5A208 FEH TE bk L R 110 20 et
905 |H#I34E5A22R MERRT B bk g R 110 60 et
906 |F#I34E5A22R MERT BE bk L R 90 40 2y
907 |&#I34E5A218 BARET  BAE bk i R 95 40 2y
908 |H#I345A22R -1 —f bk g R 121 50 et
909 |HFI3FE5A218 HERT  |REDR bk I R 60 15 2y
910 |H#345A22R KT =R bk i R 80 20 2y
911 |H#345A228 KT =R bk i R 110 50 et
912 |&#345A22R KT FRE bk I R 70 25 [y
913 |H#I345A248 HERT | REWIL b= i R 115 50 2]
914 |&#345A238 BERT | RE=sK bk i R 140 3 et
915 |§#I34£5A 28R KT &= bk i R 145 90 et
916 |H#I34£5A28R MERRT B bk L R 90 25 2y
917 |&#345A318 KT = bk i R 80 15 2y
918 |H#I34E5A298 MR#AT | IKHT bk i R 113 30 et
919 |H#345A318 FERT | LHE bk i R 100 30 et
920 |H#134£6H2H E5H BT bk [l R 132 40 2]
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921 |HFI356A6RH s Bee bk L R 103.9 62 et
922 |H#I34£6H6H RN | F bk i R 124 65 et
923 |f#I34£6H8H KHgHT AT EE bk I R 95 22 2y
924 |&#I34£6A108 BARET BT xT i S8 36 1 et
925 |HFI35F6A9R HERT | REEH bk i R 80 25 2y
926 |HFI3F6A108 HERT  |REINE bk I R 153 76 et
927 |HFI356A108 HERT | RETRE bk i R 110 50 et
928 |H#I346A 128 FEH TE bk L S 57 1.5 et
929 |H#I3E6A11H FERAT ERE bk L] R 124 55 et
930 |H#I346A138 EHH B e L] R 59 45 2y
931 |H#I346A148 FEH FETLIE bk I R 130 80 et
932 |H#I346A 158 FERAT ERE bk L] R 123 50 et
933 |H#I34E6A17H HERAT BEERT bk I R 90 20 [y
934 |H#I34E6A 168 HERT | REFE bk i R 105 35 2]
935 |H#I346A 168 % )IIBT bl bk L R 110 37 et
936 |H#I3E6A17H EHH B e L] R 60 50 2y
937 |H#I346A208 KHgHT ERFRE bk i R 95 25 2y
938 |HFI3F6A218 HERT | REEH bk i R 100 40 et
939 |H#I34£6A28R BARET | EL xT i S8 50 1 et
940 |H#I346A25R 1Lk BT RN bk i R 100 40 et
941 |H#I34£6A26R LWL BT BERE bk i R 65 15 2y
942 |H#I34£6A26R RRAT | bk i R 116 40 et
943 |H#I346A29R -1 hE bk i R 107 35 et
944 | H#I34£6A298 -1 hE bk i S 64 5 et
945 |H#3ETA4R KFHT mE bk L R 90 25 2y
946 |H#I3ETA10B KT [i1]:: bk i R 150 110 2y
947 |H#I3TA12R KT FRE bk i R 160 110 2y
948 | HF3FTA138 EHH x4 bk L R 93 30 2y
949 | HF3FTA158 KFHT = bk L] R 80 20 2y
950 |HFI3FTA158 HERT | REEMT bk I R 100 40 et
951 |H#I3ETA16H BARET | EL bk i R 100 20 et
952 |H#I34TA 18R KFHT &= bk L S 50 7 et
953 |H#I34TA 18R KT FRE bk L R 90 25 2y
954 |H#I34TA 18R FEH TE bk L S 55 4 et
955 |H#ISETA198 FEH TE bk L S 55 3.5 et
956 |HFI3FTA18H HERT | REEMT bk i R 120 40 et
957 |H#I3ETA16R mRAT | BR fibid i R 127 50 et
958 |H#I3ETA23R -1 hE bk L R 79 10 2y
959 |H#3ETA21R KFHT = bk L] R 70 20 2y
960 |H#I3ETA218 FEH TE bk L R 110 60 et
961 |H#34ETA25R S LES B fikid I R 131 40 et
962 |H#I34ETA248 FERT |FB bk [l R 90 10 B
963 |H#I34TA28R FEH =i e L] R 110 65 et
964 |HFI3ETA298 KHgHT bk g R 130 50 et
965 |H#I3ETA298 KHgHT bk i S 60 7.9 et
966 |FFI3ETA30R -1 hE bk i S 80 5 et
967 |HF3FTA308 HERT | REEH bk i R 90 30 2y
968 |F#I3ETA3IA % )IIBT bl bk i S 40 13 2y
969 |F#I3ETA30R MR#AT |IKHT bk I R 119 40 et
970 |f#348A1H AL BT RN bk [l R 80 21 21
971 |H#34E8A1R KFHT =R bk g R 110 50 et
972 |H#I358A3A HERT | RETRE bk I S 60 10 2y
973 |H#348A3A -1 hE bk i S 73 5 et
974 |&#34F8A3A KT FRE bk i R 140 110 [y
975 |f#134£8AH3H HEBT % bk I R 105 30 2]
976 |H#34F8A6H KHgHT bk g S 70 9.5 et
977 |H#348A6H KHgHT bk g S 70 9.5 et
978 |H#34F8A9A KHgHT bk i S 55 4 et
979 |H#34F8AS5H =2 )I18T = bk g R 125 64 et
980 |f#I34£8A 108 -1 hE bk L S 84 8 et
981 |H#I34£8A 108 -1 —f bk I R 140 45 et
982 |H#I34£8A 108 FEH TE bk i R 110 30 et
983 |H#I34F8A9A LWL BT & bk L R 80 35 2y
984 | HSFI358A9IR LWL BT RN bk i R 110 50 et
985 |H#I348A11H KHgHT ERFRE bk L] R 100 29 et
986 |H#I348A11R KHgHT RE bk I R 75 19.5 2y
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987 |H#I348A11H KigHr RE bk i R 80 21 [y
988 |H#134£8A 128 HEBT % bk i R 100 30 2]
989 |H#I348A 148 KT =R bk i R 120 50 et
990 |H#I34£8A17H % )I1BT BR bk i R 136 a1 2]
991 |§#I348A 18R % )IIBT ¥R bk i R 136 40 et
992 |H#I348A22R KT FRE bk L S 80 7 et
993 |H#I348A21H HERT  |REXH bk I S 80 10 2y
994 | H#I34£8A22R KT AR bk L R 76 11.5 2y
995 |f#I348A22R KT AR bk L R 75 17.1 2y
996 |H#I348A22R KT AR bk L R 7 18.1 2y
997 |H#I348A22R KT AR bk i R 76 17.6 2y
998 |H#I348A23R KT RE bk i R 70 20 2y
999 |H#I348A21H RN | F bk i R 121 35 et
1000 |#1348A23H MERT BB bk I FLER 100 40 Pt
1001 |5#34E8A23H MERT R bk I R 100 40 =43
1002 |#348A26H HERT | REFH bk I FLER 90 25 Et
1003 | 5348 A25H KFHHT [11]::] ik I R 90 15 [y
1004 |F34E8A25H KT &R ik I R 70 18.8 [y
1005 |38 A25H KT &R ik I R 70 17.7 [y
1006 |FH34E8A25H KT &R ik I R 70 18.4 [y
1007 | #3488 A25H KT &R ik B R 70 20.5 [y
1008 |38 A25H KT &R ik B R 70 17.9 [y
1009 |S#348A28H KT RE bk B RLER 110 38 =]
1010 |S#348A29H KT EIRFF A48 bk ] FLER 110 33 Pt
1011 |5#34£8A29H KT EIRFF A48 bk ] Ll 50 3.1 =]
1012 | 5#348A29H KT EIRFF A48 bk ] Ll 60 4.9 =]
1013 |5#34£8A29H KT EIRFF A48 bk ] Ll 65 7 Et
1014 |S5#348A29H KT EIRFF A48 bk ] Ll 60 5.6 =]
1015 |5#348A29H KT EIRFF A48 bk ] Ll 65 6.5 =]
1016 |5#348A29H KT EIRFF A48 ik ] Ll 60 5.1 =]
1017 |S#348A28H RRMWT |IKET bk B FLER 140 60 Pt
1018 |#348A30H K3tHir FRE bk B RLER 90 15 Et
1019 |©Fn348H31H HERT | REAH bk I Ll 80 9 Et
1020 |#348A31H —=Hr —f bk B S8 70 5 2y
1021 |S#M3EIA4E HERT | RERF ®T ] RLER 109 30 2]
1022 |S#3EIA4E HERT | REFH bk B RLER 150 88 2]
1023 |SHM3EIA4E RRMT |IKET bk B RLER 113 18 =4
1024 |©#034F9RA 58 HERT | REEDE bk I RLER 150 55 2]
1025 |S#M3EIATH K3tHir 33 bk I RLER 120 60 =]
1026 |S#3EIASH K3Hir FRE ik B FLER 110 50 =4
1027 |S#3EIA10H FEH FH ®T I RLER 15 25 2y
1028 |S#3EIATIH HRERT  |REHRA HE B RLER 70 30 2]
1029 |S#3EIA10H K3Hir FRE bk B RLER 70 15 Et
1030 |[S#3EIATIH K3tHir FRE bk I FLER 90 20 Et
1031 |[S#3EIATIH KT FRE bk I RLER 80 15 2y
1032 |S#3EIA12H R3ir L33 ®T B Ll 60 5 2]
1033 |[S#M3EIAIE KT RE bk I RLER 72 12 Et
1034 |[S#M3EIAIE KT RE ik B FLER 70 13 2y
1035 |S#3EIA12H HERT | REFH bk I FLER 90 30 Et
1036 |H#3EIA13H AR | RETRA bk B FLER 100 45 Pt
1037 |S#3E9IA13H (AL & bk I FLER 120 60 =4
1038 |H#3EIA13H KT /N bk I Ll 70 10 Et
1039 |S#3EIA13H KT /N bk B Ll 70 10 Et
1040 |FH3EIA13H ERH EI ik I R 100 50 =43
1041 | S#3E9IA12H RMRWAT B bk I RLER 132 55 =]
1042 |S#3EIA13H KT [17)::] bk ] FLER 130 65 =4
1043 |S#3EIA14H NEd) &R bk I RLER 90 20 2]
1044 |SH3EIA16H K3Hir [17)::] bk B RLER 120 50 =]
1045 |FHM3EIA16H KFHHT [11]::] ik B R 80 10 [y
1046 |SF3EIATTH HERT | RERE bk I FLER 110 50 Pt
1047 |S#3EIATTH 2 ES P bk I R 131 65 Pt
1048 |H#3EIA22H K3tHir FRE bk B FLER 90 12 Et
1049 |S#3EIA22H K3Hir [17)::] bk B RLER 100 15 =]
1050 |#349A23H K3tHir FRE bk B FLER 130 65 =4
1051 |FHM34EIA24H KFHHT [11]::] ik B LS 80 10 [y
1052 |5#3E9IA25H (AL & bk I FLER 110 35 =4
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1053 |#3EIA25H MERT | EFR bk I R 120 60 Pt
1054 |S#3EIA22H 2 ES P bk B R 82 12 Et
1055 | #3459 A26H K3tHir FRE bk B RLER 130 60 =]
1056 |S#3EIA2TH KT FRE bk I RLER 140 70 =4
1057 |S#35E9A26H b ALK Boe HE I RLER 150 54 2]
1058 |H#3EIA2TH HHERET ik B FLER 109 40 =4
1059 |#34E9IA30H HHERET Ll bk I RLER 15 15 Et
1060 |#3EIA29H K3tHir FRE bk B RLER 80 15 Et
1061 |S#3EIA29H K3tHir FRE bk I FLER 90 20 Et
1062 |5#3E10A4H FEH TE bk ] R 90 20 =]
1063 |#3E10A2H MRE#AT | EXAR biakid ] 543 82 13 =4
1064 |5#3E10A5H LK BT =g T ] [543 134 40 2]
1065 |H#3E10A4H KFHHET FE biakid # R 90 20 =]
1066 |5#3E10ATH MERH (K H T ] R 59 10 =]
1067 |S#3E10ATH KFHHET F*E bk # R 100 15 Et
1068 |4#3E10A9H FEHRHT bk ] R 105 75 Et
1069 |HHM3FE10A108 | FE4RHT biakid ] R 100 60 Et
1070 |[S#3E10A108 [FRHAT | KEEET bk ] R 135 70 Et
1071 | 5#3E10A6H BR#HAT  |BE bk ] R 89 16 =]
1072 | 5#3E10A9H MRE#AT | EXAR biakid # R 95 15 =]
1073 |S#3E10A6H BR#HAT AW biakid ] R 93 18 =]
1074 |[SM3FE10A158 | MERHT ] biakid # 513 100 20 Et
1075 |SM3FE10A158 | MERHT ] biakid # R 60 15 =]
1076 |[SHM3EI10A168H  |#REHT & biakid ] 513 100 40 Et
1077 |f3410A188 |[/hEET |ES biakid ] 513 100 50 Et
1078 |HM3EI10A188 | = EH hE biakid ] R 84 20 =]
1079 |FHM3E10A188 |HFERE | KWL bk # R 90 20 =]
1080 |S#3FI10A15H AT EI biakid # R 60 Et
1081 |HM3EI10A168 |FRHET |XAR bk # 513 146 100 =]
1082 |HM3FE10A21H | KFHHT F*E bk # R 110 30 Et
1083 |HM3FE10A238 | KFHHT FE biakid # R 90 15 =]
1084 |5HM3E10A258 |[MERT |AH bk # 513 70 40 =]
1085 |HA3EFE10A258 | KREHT BAR biakid ] R 80 14.5 =]
1086 |HM3EI10A248 |EEHT |£&R bk ] 513 108 20 Et
1087 |HM3EI0A17E  |[FREHET |XAR biakid ] R 95 117 =]
1088 |4#3E10A248  |HERT |[EEHR bk ] 513 100 45 Et
1080 |FHM3E10A268 | —=H —f biakid # R 100 13 Et
1090 |#34E10A268 |/hEER™  |REF)I biakid ] R 85 20 =]
1091 |SM3FE10A258 | KFHHT FE biakid # R 110 25 Et
1092 |SFM3FE10A258 | KFHHT EX# biakid ] 513 120 30 Et
1093 |HM3EI10A27  |FHREHET |8R bk ] 513 108 25 Et
1094 |FHM3E10A27  |FHREHET |B8R bk # 513 94 18 =]
1095 |FHM3E10A27E |FRHET |XAR biakid ] 513 125 40 Et
1096 |[SF3FE10A28H | KREHT RE biakid ] R 120 52 Et
1097 |[HM3FE10A298 | MERHT ] bk # R 90 15 =]
1098 |HA3FE10A298 | KREHT RE biakid ] R 90 15 =]
1099 |S#3E11ATH FEH &R bk ] 513 100 30 Et
1100 |S#3E11ATH =1 hE biakid ] I 96 10 =]
1101 |[S#3E11A2H HAE BT & biakid # 513 100 25 Et
1102 |SHM3FE10A31H | KFHH e bk ] R 110 30 Et
1103 |[S#3E11A1H KFHHET FE biakid # R 120 40 Et
1104 |S#3E11A2H HARRT | REEH bk ] 513 110 60 Et
1105 |S#3E11A5H KHET RE biakid # R 90 20 =]
1106 |S#3E11A5H KHET RE biakid # R 90 18 =]
1107 |S#3E11A5H KHET RE biakid # R 90 22 =]
1108 |S#3E11A5H KHET RE biakid # R 90 18 =]
1109 |S#3E11A5H KHET RE biakid # R 95 22 =]
1110 |S#3E11A5H FEH &R biakid # 513 140 100 =]
1111 | S#3E11A5H FEH TE biakid # R 125 80 Et
1112 |[S#3E11A8H HERT | REEFES bk ] 543 138 68 Et
1113 |[S#3E11A8H KFHHET = biakid # 513 130 65 Et
1114 |[SMIENA10B | KH4Hr B/ bk # 513 120 48 Et
115 |$M3E11A10B |[MhEET  |ES T ] I 72 6 =]
1116 |[4M3ENA1I2E | BERT |BE=SXK bk # 513 110 70 Et
117 |FMIFE1A13E  |#WATIRET  |SE T # I 75 5 =]
1118 |[SMIENAI6E | KHHT B/ bk # R 90 19 =]
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1119 |%f3E11A168 KBET Fa/Nl bk 3 i 743 100 23 [y
1120 |Ff34E11A168 KBET Fa /Nl bk 3 i 743 95 21 =43
121 |$M3E11A178 KBET hE bk 3 i 743 142 67 [y
1122 [$MSE11AI13E  |MmAT  |& mE || RR 130 62 B
1123 [$MSE11AI13E  |MmAT  |& mE || RR 80 14 B
1124 [$RSEIATTE  |[MmAT  |& mE | M| RR 80 15 B
1125 |%f34E11A218 KBET &R bk 3 i 743 170 125 =43
1126 |Ff34E11A198 KIHHT = bk 3 i 743 130 70 [y
1127 |f34E11H208 2 )I1HT AH bk 3 i 743 130 90 [y
1128 [$MSE11A24E  |M@AT  |# mE | M| RR 110 40 B
1120 [$RSEI11A19E  |[MmAT  |& mE | M| RR 80 15 B
1130 [¢73%11A28E  [RERH |[REIE mE | M| BR 125 65 B
1131|4734 11A248  [MEAH KW mE || BR 139 80 B
132 [¢73%11A218  [MEMH |RAR mE | M| RR 80 20 B
1133 |%M34E11A258 KBET Fa/Nl bk 3 i 743 120 40 [y
1134 [4F3%F11A23E  |FBRH /K mE || RR 109 15 B
1135|4734 114268 |M4RET  |#8WL mE | % | BB % 15 B
1136 [#M34E115258  [@@FH |RETRE wmE || R 125 % B
1137 [#M3£11A268  [8RH  |REKS mE | B | BK 125 75 B
1138|4734 11A288  [BRH |[REIR mE | % | BB 125 65 B
1130 [SMSE11A208 | KMET &85 mE | | RR 130 7 B
1140 |%Ff34E11A278 A E BT H2iR bk ] 23 743 120 55 [ 2]
1141 4734 12A1E  [MemEr | mE || RR 130 4 B
1142|4734 12A1H  [MaRr |3 mE | M| RR 120 34 B
1143 [473%11A258  |MEMH |RAR mE | M| RR 121 40 Bt
1144 |5M3EIATH £l J\EI ET M Sk 60 8 [ 2]
1145 |5f34E12A58 =) #l bit ] i 743 120 80 [y
1146 |Ff34E11A258 1IE4:0y B T 23 513 95 24 =43
1147 [SFS%12A4E  [MRH | REIIR mE | M| RR 81 % B
1148 [@F3E1204E 8RS | REET mE | B | BK 100 45 B
1149 [#F312A58 8@ |REAEL wmE | ® | R 110 80 B
1150 |#F3%F12H56  [B@FH  |REXL mE | % | BB 150 85 B
1151 |¥f34E12A58 N BETHE bk 3 i 743 1025 15 =43
1152 |%f34E12A58 N ETH bk 3 i 743 1035 90 =43
1153 |¥f34E12H6H LWL HT E#I bk ] 23 743 115 45 2]
1154 [€73%12A7E  [MEMH |REAR mE | M| RR 136 65 B
1155|4734 12A9E  |fHEET | mE || RR % 15 B
1156 |%F34E12A9A REHET * bk ] i 743 85 20 =43
1157 [$MSE12A108 | FEh &8 mE | M| RR 80 20 B
1158 |$MSEI12ATE | KHET | #E mE | | RR 140 % B
1150 |$MSE12A126 | KHET | #E mE | M| RR 100 30 B
1160 |[$MSE12A13E | KHET | #E mE | M| RR 110 40 B
1161 |%Ff34E12A9A 2 )I18T = bt i 743 n 15 =43
1162|4734 12A128  [BERH  |REEM mE || RR % 30 B
1163 [473%12A138  [RBRH |[REIR mE || BR 8 30 B
1164 [473&12A108  |FRRH |75 mE | | RR 130 49.5 B
1165 |f34E12A138 ZEH —f bk 3 i 743 106 30 [y
1166 |F34E12A138 ZEH —f bk ] i 743 103 30 [y
1167 |f34E12A158 KIHHT :3: bit ] i 743 86 12 =43
1168|4734 12A168  |M4RET  |#8IL mE | H | BR 160 62.5 B
1160 |[#F3%F12A17E  [8@FH  |RETRE mE || BR 130 80 B
1170 |73 12A186 | F&EH &R mE | M| RR % 20 B
N7 | $M3E12A178 KIHHT = bk ] i 743 135 100 =43
1172 |%M34E12A178 KIHHT = bk 3 i 743 100 60 [y
1173 |M34E12A208 KBET &R R ;3 513 95 32.1 =43
1174 |5F34E12A208 E3:0d R T -3 54,3 95 15.5 Bt
1175 4734 12A208  |Muger |4 mE | M| RR 100 15 B
1176 | 3412208 KIHHT FRE bt i 743 90 25 =43
177 |%M3E12A198 = )I18T = bk 3 i 743 145 76 [y
1178|4734 12A208  [RERH  |REHR mE || RR 135 7 B
179 [473%12A248  [RERH  |RRIR mE || BR 135 72 B
1180|4734 12A258  |®HH  |&&A mE | M| RR 140 68 B
1181 |Mf34E12A258 MERT  |RER bk 3 i 743 60 35 =43
1182 |M34E12A258 MERT  |AH bk 3 i 743 80 50 =43
1183 | Mf34E12A258 HERET  |EL bk 3 i 743 130 45 [y
1184 | F3&E12A278 TiFEH TE bit ] i 743 130 90 [y
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1185 |4M3E12A298  |HERT |[REEH biakid ] 513 110 50 2y
1186 |HM3F12A20 |[FEEHFETE |= T ] [543 110 80 2]
1187 |HM3FE12A268 | KREHT RE biakid ] R 90 30 =]
1188 |HM3FE12A268H | KREHT RE biakid # R 90 21 =]
1189 |HMIFE12A268 | KREHT RE bk # R 90 117 =]
1190 |SMIFE12A27TH | KR4HT RE bk # R 85 20 =]
1191 |[SMIFE12A27TH | KHEHT RE biakid # R 90 21 =]
1192 |[SM3FE12A248 | HERH ] biakid # 513 150 40.5 Et
1193 |[Sf4E1A4B8 HHERET Ll bk I RLER 90 13 Et
1194 |[SM4E1A3B8 K3Hir FRE ik I FLER 110 35 =4
1195 |[S#451A58 HERT | REEFR ik I FLER 130 70 Pt
1196 |[SHf4E1A9B K3Hir = bk I R 140 90 =4
1197 |[S#f4E1A8E HERT | REEW bk B FLER 130 70 Pt
1198 |[S#f4E1A8E RMRWAT | AR bk I R 148 70 =4
1199 |S#4E1A8E RR#T | HE I 533 136 60 2]
1200 |S#4E1A11H —=Hr = ik I R 120 50 =]
1201 |[S#4€E1A11H —=Hr hE bk I RLER 110 30 =4
1202 |S#4€1A12H 2 LES P ®T I RLER 80 14 2]
1203 |S#4€E1A10H HHERET Ll bk I FLER 95 18 Et
1204 |S#4€1A13H KT /N bk B R 110 32.4 =]
1205 |S#4€1A13H KT /N bk I R 100 29.5 =]
1206 |S#4€1A13H HHERET Ll bk B R 135 65 =]
1207 |S#4E1A14H HERT | REEFR bk B FLER 130 80 Pt
1208 |S#4E1A14H KT RE bk B FLER 85 18 Et
1209 |S#4E1A14H KT RE bk I RLER 95 21.5 Et
1210 |[S#4E1A14H KT RE bk B RLER 100 28.5 =]
1211 |[SM4E1A14H (AL & bk B R 100 60 =]
1212 |[SM4E1A14H —=Hr hE bk I FLER 110 35 =]
1213 |[S#4€E1A15H RERm |=/8 bk ] FLER 158 99 Pt
1214 |S#4€E1A15H RERm |=/8 bk I FLER 83 15 Et
1215 |[5#4€1A15H RERm |=/8 bk ] FLER 83 15 Et
1216 |[S#4E1A15H RERm |=/8 bk ] FLER 83 15 Et
1217 |[4#4€1A15H RERm |=/8 bk I FLER 83 15 Et
1218 |S#4€E1A15H RERm |=/8 bk ] FLER 83 15 Et
1219 |[5#4€1A16H MERTBE bk I R 100 50 =4
1220 |S#4€E1A17H MERT | ®T B RLER 130 50 2]
1221 |[SM4€1A16H HHERET Ll bk B R 130 58 =]
1222 |[S#4€1A18H HHERET L bk B R 120 53 =]
1223 |[S#f4€1A18H HERT  |REIER bk B FLER 103 30 Pt
1224 |S#4E1A19H BRWAT | FE bk B R 121 35 =4
1225 |S#4€1A19H (NEd) &R HE ] RLER 110 45 2]
1226 |[S#4E1A19H R3ir FRHE bk I RLER 140 85 2]
1227 |[S#4€E1A19H MR | RETRA bk B FLER 120 65 Pt
1228 |SHM4E1A19H AR | RETRA bk I FLER 125 65 Pt
1229 |S#4€1A23H HHERET L bk B R 150 56 =]
1230 |S#4E1A22H (AL & bk I FLER 65 12 Et
1231 |[SM4€E1A22H (AL & bk B RLER 15 16 Et
1232 |[4M4€E1A22H KT FiR bk B R 135 80 =]
1233 |S#M4E1A22H HERT | REFH bk B FLER 130 60 Pt
1234 |SH4E1A26H UEd) RN bk I RLER 110 45 =]
1235 |S#M4€E1A21H HERT | RETAR bk I FLER 80 28 Et
1236 |[S#4E1A21H KT RE bk I RLER 90 25 Et
1237 |[S#4€E1A21H KT RE bk I RLER 93 21 Et
1238 |S#M4€E1A21H KT RE bk I FLER 87 23 2y
1239 |S#4E1A21H RRWAT W ®T B RLER 7 14 2]
1240 |S#4€E1A21H UEd) RN bk B FLER 115 45 =4
1241 |[Sf4€1A21H HARET BAET bk I S8 90 10 2y
1242 | 5#451A28H NEd) B ®T I RLER 112 70 2]
1243 |#4€1A30H FEH FT&ER bk I R 110 64 =4
1244 |S5H4E1A28H RERm |=/8 bk ] R 110 35 Pt
1245 |5#4€1A30H HERT | REFHR bk I FLER 125 50 Pt
1246 |[SHM4E2A18 KT /N bk I FLER 100 42 Pt
1247 |[SM452A18 HHERET L ik I R 148 57 =4
1248 |[SHM452A28 RInF Boe bk I FLER 110 40 =4
1249 |[S#M4E2A18 K3Hir 33 bk I FLER 90 20 Et
1250 |S#452A28 KT /N bk B FLER 97 23 Et




&5 %R H ks RRIBM SRR A | BERES | R (m) | 4E (Ke) RERR
1251 |[5#M452A28 KT /N ik B RLER 95 19 Et
1252 |[S#M452A28 KT /N bk B RLER 95 21 Et
1253 |[S#M452A38 HHERET Ll bk B RLER 100 23 =4
1254 |[S#M452A38 FERET g bk I RLER 110 75 =4
1255 |S#M452A28 HERT | REEOR bk B RLER 120 65 =4
1256 |S#452A58 FERET BERE ®T I RLER 120 35 2]
1257 |[S#M452A58 KT /N bk B RLER 95 26 Et
1258 |S#M452A38 HERT | REFH bk B FLER 130 60 Pt
1259 |S#M4E2A48 HERT | RETAR bk B FLER 65 15 Et
1260 |SH4E2A4B HERT | REXF ®C I FLER 135 90 Pt
1261 |[SHM4E2A68 K3Hir FRE ik I FLER 110 30 =4
1262 |[SM4E2ATH KT /N bk B RLER 80 18 Et
1263 |[S4HM4E2ATH KT /N bk B RLER 15 15 Et
1264 |[SHM4E2ATH FEH TE bk B RLER 100 40 =4
1265 |[S4M4E2ATH HHERET L ik B FLER 160 70 =4
1266 |[SHM4E2A6B —=Hr = ik I FLER 118 30 =4
1267 |[SM4E2ATH HERT | RETAR bk B FLER 110 45 Pt
1268 |[SHM4E2A6E RInF Bre bk B RLER 145 70 =]
1269 |[S#M4E2A9B KT RE ik I R 110 46.5 =43
1270 |S#4%£2A10H RERT  |F/A bk B FLER 120 50 Pt
1211 |[S5#M452A12H BARET | EL bk I RLER 150 70 =]
1272 |[#452A14H FERET KES bk B RLER 80 45 Et
1273 |S#45£2A15H FEH TE bk B RLER 120 37 =]
1274 |S#452A15H MERT(BFEN bk I FLER 80 30 Et
1275 |S#4%£2A15H KT RE bk B RLER 95 26 Et
1276 |S#452A16H HERT | REEFR bk B FLER 140 80 Pt
1277 |[S#452A19H FEH = bk B R 85 18 Et
1278 |#4%£2A20H KT FiR bk I FLER 90 31.2 Et
1279 |S#4%£2A20H KT FiR bk B FLER 90 31.5 Et
1280 |#442A20H KT FiR ik I RLER 95 32.2 Et
1281 |S#45E2A19H RERT  |F/A bk B FLER 120 50 Pt
1282 |5#442A20H K3tHir =R bk B RLER 120 80 =]
1283 |4#M45E2A22H AR | RETRA bk I FLER 125 70 Pt
1284 |S#4€2A21H AR | RETRA bk I FLER 130 65 Pt
1285 |4#4%2A21H MR | RETRA bk B FLER 135 70 Pt
1286 |4#4E2A22H HERT | RERE bk B FLER 135 70 Pt
1287 |4#M452A22H MERT(BFEN bk I FLER 90 50 Et
1288 |#44£2A23H FEH &R ®C B RLER 110 45 =]
1289 |S#45£2A22H HERT | REFH bk B FLER 130 80 Pt
1290 |S#44£2A23H HERT  |REPR PR#HE bk B FLER 131 45 Pt
1291 |5#44£2A23H RERm |=/8 bk ] FLER 150 89 Pt
1292 |5#4%2A25H HERT | REWFREF bk B RLER 115 55 =4
1293 |#45£2A23H 2 LES P HE I 53.3 120 40 2]
1294 |5#452A23H FEH =il bk B R 90 30 Et
1295 |#44£2A23H FEH TE ik I RLER 100 25 =]
1296 |5#4E2A21H BARET  BAE ®C B FLER 100 40 Pt
1297 |#45£2A28H FEH TE bk B RLER 142 80 =]
1298 |[S#M4E3A1H HERT | REFH bk B FLER 100 50 Pt
1299 |S#443A28 MERT BR T 23 FLER 87 25 [y
1300 |S#443A28 FERET ERE bk I RLER 90 50 Et
1301 |[S#443A3E KT H/ bk I FLER 98 28.5 Et
1302 |[S#453A6H RInF Bre bk I RLER 120 67 =]
1303 |[S#453A4B UEd) RN bk I RLER 120 60 =]
1304 |[S#453A8E MERT  |T2HE T 23 FLER 90 19 [y
1305 |S#443A8E KT mE bk B RLER 150 85 =4
1306 |S#45E3A9E BT |IKET ®T B RLER 120 60 2]
1307 |[S#453A9B FEH TE bk B RLER 140 80 =4
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1617 |§f4&E12A148 KFHET =E bit ] ;3 743 110 45 (=43
1618 4744 12A168 B8R H  |REEL AE | # | BK 150 100 I
1610 [#F4£12A17E8  |[FSRH |78 mE || K 80 23 It
1620 4744127256 [B@FRH |[RETRA T 80 25 Bt
1621 4744 12A256  [fB@RH  |REWL AE | # | BK 8 2 I
1622 | f45E12A258 2 )11 87 Il nE 23 743 120 50 (=43
1623 [$F4E12A248  |K#ET KM@ wmE | ® | SR 60 5 I
1624 |S 44124268 ZEHmr BHE ET )3 743 113 60 Bt
1625 | 44124288 KFHET =E nE I 743 100 35 (=43
1626 [€FSE1A4E  [A#NT  |BE mE | # | BR 70 10 B
1627 [#F5€1A4E  |MRFAH BB EC | # | 9m n 1.5 Bt
1628 [¢705%1A28  |MAH  |FHE AE |78 Bm 123 60 e
1620|4744 128308 |FRAH /R wmE || R % 15 I
1630|474 128218 |FRRH /R wmE | ® | R 140 80 B
1631|4754 1ATE  [REFH | RETRA AR || BR 100 35 Bt
1632 [®75F1ABH WA |BE mE | ® | BR 100 60 Bt
1633 [#7I5%1A8E  |A#ET L@ mE | ® | BR 110 15 Bt
1634 [¢75%1A11E  |WAH  |£R mE | # | BR 80 20 B
1635 |f541A 150 YAE AT # ik 3 3 24 87 26 (=43
1636 [®F5F1ATH  |FRES  |B© mE | ® | BR 145 75 Bt
1637 [®75F1ATH  |FRES  |#® mE | ® | BR 135 64 Bt
1638 |54 1A17H KFHHT =R ik 3 3 533 140 90 =353
1639 |F541A 148 =107 =i ik 3 53 533 100 40 =353
1640 [4705%1A1TE  [BEBFH | REIR mE | ® | BR 100 30 Bt
1641 |F54E1A 180 KFHHT KIHHT ik 3 )3 Sk 60 1 (=43
1642 47054 1A19H  [EFH  |RETRA AE | K| BR 100 40 Bt
1643 |4705%1A21E  |MAH | L#B mE | # | BR 100 25 Bt
1644 |$FISE1A2E  |[AHET  |FE mE | # | BR 120 65 Bt
1645 |4FISE1A22E  |[AH#ET S mE | ® | BR 70 12 B
1646 |FN54E1A 220 KFHHT =R ik 3 )3 533 100 40 =353
1647 [4705%1A22E  [EFH | RETRA AE | K| BR 100 35 Bt
1648 47054 1A22E  [EFH | RETRA AE | K| BR 140 70 Bt
1649 |Fn54E1A24R b L) /i ik 3 53 533 120 60 =353
1650 [47541A24E  [REFH | RETAE AR || BR % 30 B
1651 |¥fn54E1A 250 pX: L) /i ik 3 23 Sk 60 8.5 =15
1652 |#7I5%1A268  |AH#ET  |KE mE || B 70 15 B
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1653 |S#5€1A28H RInF Boe ik I RLER 130 50 =]
1654 |S#5€1A28H (AL WEBE bk I FLER 100 35 Pt
1655 |S#5€1A29H (AL WEBE bk B FLER 160 90 Pt
1656 |H#541A30H K3tHir FRE bk B FLER 70 10 Et
1657 |#541A28H AR |[REFR bk B FLER 117 58 Pt
1658 |#5€1A30H HERT | REIIER bk B FLER 138 82 Pt
1659 |S#5€1A31H LN LES bk B RLER 120 45 =]
1660 |S#5&2A1H MR | RETRA bk I FLER 85 28 Et
1661 |[S#542A18 YAE BT # ik I R 80 20 [y
1662 |S#542A4B8 LA:EL & ik I FLER 100 20 =4
1663 |S#552A6H FEH &R ik B R 150 80 =]
1664 |©#052R68 =1 ELIRNE bk I RLER 135 70 =]
1665 |S#542A8E /MERT | EHT bk I RLER 130 80 =]
1666 |S#552A8E —=Hr —f bk I RLER 135 80 =4
1667 |[S#542ATH AR |[REFR bk I FLER 139 97 Pt
1668 |S#5F2A9E LA:EL EN ik I RLER 110 35 =]
1669 |S#542A9E MR | RETRA bk I FLER 100 35 Pt
1670 |S#542A13H HERT | RETAR bk B FLER 150 80 Pt
1671 |[5#5€2A11H K3tHir FRE bk I FLER 70 12 Et
1672 |[4#5€2A11H RInF Bre bk B RLER 110 44.5 =]
1673 |S#5€2A11H RInF Bre bk I RLER 100 40 =]
1674 |S#5%2A14H HERT | &REIIR bk I FLER 124 70 Pt
1675 |S#5%2A15H AR | RETRA bk I FLER 60 15 Et
1676 |5#542A13H RERT  |F/A bk I FLER 100 18 Pt
1677 |S#542A16H FEH TE bk I RLER 110 60 =]
1678 |5#542A16H K3Hir [17)::] bk I RLER 130 80 =]
1679 |S#542A16H K3tHir =R bk B RLER 110 40 =]
1680 |#542A17H AR | RETRA bk I RLER 150 120 2y
1681 |4#542A17H EBH Ex% ®T B RLER 114 50 2]
1682 |4#542A18H KT EIRFF A48 ik ] FLER 95 21 Et
1683 |H#542A19H (AL B bk B FLER 100 30 Pt
1684 |S#542A19H HERT | REEFR bk I FLER 120 70 Pt
1685 |#542A20H % )I187 ¥R ik I RLER 85 11.5 Et
1686 |H#542A21H K3tHir FRE bk B FLER 90 15 Et
1687 |4#542A22H LN iR ik I RLER 60 20 Et
1688 |4#542A22H HERT | RETAR bk B FLER 130 70 Pt
1689 |#542A23H K3tHir FRE bk B RLER 100 20 =]
1690 |#542A23H LA:EL KF bk B RLER 110 25 =]
1691 |S#542A25H KT /N bk B FLER 100 21.5 Pt
1692 |5#542A23H FRERT | ER ik B R 105 20 =]
1693 |#542A26H LN SRl bk B FLER 95 18 Et
1694 |S#542A26H (AL & bk B RLER 120 70 =]
1695 |S#542A21H RERm |=/8 bk ] FLER 115 40 Pt
1696 |S#543A3E HERT  |[REFR bk B FLER 130 71 Pt
1697 | #543A5H8 HERT  |REWL ik I FLER 70 20 Et
1698 |S#543A6HE KT /N bk I FLER 80 20 Et
1699 |S#543A12H RERm |=/8 bk ] FLER 90 18 Et
1700 |S#543A12H RERm |=/8 bk ] FLER 90 11 Et
1701 |S#543A12H RERm |=/8 bk ] FLER 90 18 Et
1702 |S#543A12H FRERT  |F/A bk I FLER 110 30 Pt
1703 |S#543A12H RERT  |F/A bk I FLER 110 32 Pt
1704 |S#543A12H RERT  |FB bk I RLER 100 10 =]
1705 |S#543A14H RERT  |FB bk B RLER 113 10 =]
1706 |#543A15H HERT | REEFR bk B FLER 140 65 Pt
1707 |S#543A16H LN h%E bk I R 105 35 =]
1708 |#543A20H KT /N ®C I FLER 90 25 Et
1709 |S#543A20H KT /N ®C I FLER 95 30 Et
1710 |S#543A20H RInF Bre bk I RLER 122 75 =]
1711 | 5#543A23H BARET | EL bk B FLER 110 30 =4
1712 |[5#543A24H HHERET Ll bk I RLER 100 25 =]
1713 |S#543A27H AR | RETRA bk I FLER 130 95 Pt
1714 |S#543A27H HERT | RETAR bk I FLER 125 65 Pt
1715 |5#543A29H LN SRl bk B RLER 123 35 =]
1716 |S#543A29H RInF Bre bk I FLER 128 80 =4
1717 |[S#f5¢4A18 HERT | REEFR bk I FLER 120 60 Pt
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1718 |4#544A11H MR | RETRA bk I FLER 135 70 Pt
1719 |S#544A16H HERT | REEFR bk I FLER 130 70 Pt
1720 |#544A18H AR | RETRA bk I Ll 65 25 Et
1721 |S#544A22H HERT | RETAR bk I FLER 110 35 Pt
1722 |5#544A19H RERT  |FB bk B RLER 110 11 =]
1723 |S#544A22H BARET | EL ik B RLER 120 65 =]
1724 |S#544A23H RERT  |FB bk I RLER 90 15 Et
1725 |S#544A23H RERT  |FB bk I RLER 135 75 =]
1726 |5HM544A298 YAE BT # ik B R 60 25 [y
1727 |S#545A13H HERT | REFH bk I FLER 130 30 Pt
1728 |5HM54E5A 158 MERT BR ik 53 R 150 130 [y
1729 |S#545A16H —=Hr —f bk B Ll 51 5 Et
1730 |S#545A18H K3tHir FRE bk I RLER 40 920 Et
1731 |[S#545A19H HERT | REFH bk I FLER 120 60 Pt
1732 |5#545A20H MR | RETRA bk B FLER 100 35 Pt
1733 |S#545A20H KT RE ik B RLER 131 25 =]
1734 |[S#545A21H HERT | &REIIR bk B FLER 120 55 Pt
1735 |#545A22H AR | RETRA bk B FLER 70 25 Et
1736 |S#545A24H HERT | REWL bk B FLER 100 40 Pt
1737 |S#545A26H HERT | REFH bk I FLER 120 40 Pt
1738 |#545A26H —=Hr = bk B Ll 53 3 Et
1739 |[S#546A 4B K3tHir =R bk B RLER 120 45 =4
1740 |S#546A28 2 )I187 NE bk I RLER 136 60 =4
1741 |[S#546A28 HERT  |REIER bk B FLER 120 58 Pt
1742 | 5#546A10H HERT | &REIIR bk B FLER 125 60 Pt
1743 |5HM54E6A 148 YAE BT # ik B R 98 45 [y
1744 |S#546A14H —=Hr hE bk B Ll 54 5 Et
1745 |5#546A13H K3tHir FRE bk B Ll 50 5 Et
1746 |[S#546A1TH K3tHir m bk I FLER 130 80 Pt
1747 |S#546A16H BARET | EL HE | FH| R 70 3.5 =]
1748 |S#546A1TH MERTBE bk I FLER 100 30 Pt
1749 |S#546A18H AR | RETRA bk B FLER 80 30 Et
1750 |#546A15H HERT | RERHF bk I FLER 100 40 Pt
1751 |S#546A19H FEH &R ®C I Ll 42 6 Et
1752 |5#546A25H RInF Bre ik I RLER 110 22 =]
1753 |#546A25H K3tHir FRE bk I FLER 130 60 Pt
1754 |#546A26H K3tHir FRE bk B Ll 60 5 Et
1755 |#546A26H MERTBE bk I RLER 110 45 =]
1756 |[S#5€TAIE BARET | EL bk I Ll 30 4 Et
1757 |[S#54TAH2B HERT | RESH ik B Ll 90 40 Et
1758 |S#5€TAH2B HERT | RESH bk I Ll 80 30 Et
1759 |S#54TA5HE K3tHir [ ik I R 90 25 [y
1760 |[S#5ETATE K3Hir L] ik B R 80 20 [y
1761 |[S#5¢THSE K3tHir FRE bk B RLER 50 7 Et
1762 |S#5€TA10H HERT | RESH bk B Ll 40 10 Et
1763 |S#5€TA10H HERT | RESH bk I Ll 40 10 Et
1764 |S#5€TA13H K3tHir m bk I Ll 60 7 Et
1765 |S#5ETA14H K3Hir 1)z ®C B RLER 49 20 Et
1766 |S#5€ETA15H K3tHir FRE bk B FLER 60 10 Et
1767 |[S#5€TA16H KT EIRFF A48 bk ] FLER 132 32 Pt
1768 |S#5ETA18H FEH TE bk B Rl 70 5 Et
1769 |S#54TA20H K3tHir FRE bk B RLER 60 10 Et
1770 |S#5€TA19H KT RE bk ] RLER 88 12 Et
171 |[S#5€TA21H AR WEPR bk I FLER 140 80 Pt
1772 | 5#5€TA20H HHERET Ll HE |8 HER 120 40 =]
1773 |5M5€TA22H KFHHT [11]::] ik B R 60 10 [y
1774 |S#5€TA23H RERT  |FB bk I FLER 110 50 =]
1775 |S#5€TA23H K3Hir m bk I Ll 60 7 Et
1776 |S#5%TA26H FEH TE bk I Ll 70 7 Et
1777 |S#5€TA24H RERT  |F/A bk B Ll 56 8 Et
1778 |S#5€TA24H FRERT  |F/A bk I Ll 55 9 Et
1779 |S#5€TA2TH HERT  |[REMR bk B FLER 125 75 Pt
1780 |#54TA28H LN LHH bk I Ll 80 10 Et
1781 |S#54TA30H K3tHir m bk I Ll 50 5 Et
1782 |5#54TA30H K3tHir FRE bk B RLER 60 10 Et
1783 |S#5€ETA29H HERT | RE=SK bk I Ll 80 8 Et
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1784 |S#5€TASIHE MR | RETRA bk I FLER 110 55 Pt
1785 |[S#548A1H HERT | RETH bk B FLER 120 49.5 Pt
1786 |S#5€TASIH K3tHir [17)::] bk B Ll 60 7 Et
1787 |[S#548A1H FEH TE bk B S8 70 6 Et
1788 |[S#548A1H FEH TE ik B Ll 90 8 2y
1789 |S#548A1H RERT  |FB ik B RLER 105 40 =]
1790 |S#548A1H 2 )I187 ¥R bk I Ll 40 15 Et
1791 |[S#548A1H HERT | RERH bk I Ll 40 10 Et
1792 |S#548A3E KT BAR bk ] FLER 15 17 Et
1793 |[S#548A6H YAE BT # ik B R 50 10 [y
1794 |S#548A6H K3Hir 33 ik I FLER 70 10 Et
1795 |[S#548A3E 2 )I187 ¥R bk I FLER 128 52 =4
1796 |S#548ATH FEH TE bk I RLER 85 12 Et
1797 |S#548A10H FEH =il bk I R 120 38 Pt
1798 |#548A10H K3Hir m bk ] Ll 60 7 Et
1799 |&#n548H 148 HERT  |[RE/MR bk B Ll 60 15 Et
1800 |#N548A16H K3tHir m bk ] Ll 60 8 Et
1801 |%#n54F8H 208 HERT  |[REMR bk I Ll 50 8 Et
1802 |#548A18H (AL & bk I FLER 120 70 Pt
1803 |#548A19H KT EIRFF A48 bk ] FLER 135 54 Pt
1804 |5#548A19H KT RE bk ] Ll 80 8 Et
1805 |#N548A18H KT /N bk B RLER 128 35 =]
1806 |#548A19H KT FiR bk ] Ll 15 7 Et
1807 |#548A19H KT RE bk ] Ll 78 8 Et
1808 |#N548A20H K3Hir m bk ] Ll 60 6 Et
1809 |#548A20H KT BAR bk ] Ll 88 8 Et
1810 |#548A21H (AL & bk I RLER 100 40 =]
1811 |5#548A20H KT BAR bk ] Ll 90 8 Et
1812 |5#548A20H KT BAR bk ] Ll 90 8 Et
1813 |4#548A24H KT EIRFF A48 ik ] FLER 121 34 Pt
1814 |5#548A26H (AL & bk B FLER 140 70 Pt
1815 | 548 A23H —Eir h 2 ik B R 87 12.5 [y
1816 |4#548A23H —=Hr —f ik B RLER 107 30 =]
1817 |#548A26H —=Hr hE bk B FLER 15 10 Et
1818 |4#548A2TH —=Hr hE ik I Ll 68 8 Et
1819 |5#548A26H —=Hr hE bk I Ll 69 6 Et
1820 |#N548A2TH 2 )I187 PRFNE bk B FLER 132 42 Pt
1821 |4#548A28H HERT | RERHF bk I FLER 70 20 Et
1822 |5#548A28H HERT | RERH HE (8| HER 70 28 et
1823 | & #n548H25H HERT (RE/MH bk I FLER 60 30 Et
1824 |#548A30H K3tHir 33 bk B FLER 90 20 Et
1825 |#548A31H KT EIRFF A48 bk ] FLER 115 43 Pt
1826 |#548A30H HERT | RETH bk B FLER 140 39 Pt
1827 |#549A2B8 MERTER bk B FLER 100 40 =4
1828 |S#5EIATH HERT | RE=SK bk B RLER 110 35 2]
1829 |S#549IA4E K3tHir FRE bk B RLER 100 30 =]
1830 | #549IA5H K3tHir FRE bk B RLER 80 15 Et
1831 |[S#549A5H KT FiR ik ] FLER 95 20 2y
1832 |[S#549IA5H KT FiR bk ] RLER 96 20 Et
1833 |H#549IA8H KT FiR ik ] FLER 130 34 =4
1834 |S#549A12H HERT  |REIER bk B FLER 130 66 Pt
1835 |#549A13H HERT | REEFR bk B FLER 90 35 Et
1836 |H#5EIA14H MR | RETRA bk B FLER 100 40 Pt
1837 |#549IA15H HERT | REEFR bk B FLER 125 65 Pt
1838 |H#5EIA16H HERT | RERHF bk I FLER 70 40 Et
1839 |H#54EIA15H MERT AR bk I FLER 130 60 =4
1840 |S#N549IA19H LN KE bk I FLER 76 10 Et
1841 | S#5EIA19H LN KE bk I RLER 76 10 Et
1842 |S#549A18H K3tHir FRE bk I FLER 100 20 =4
1843 |S#549A18H K3tHir FRE bk I RLER 100 25 =]
1844 |S#5EIA19H —=Hr hE bk I FLER 90 10 Et
1845 |#549A20H FEH TE bk B FLER 90 16 Et
1846 |H#549IA21H K3Hir = bk ] RLER 110 25 =]
1847 |#549A21H KT RE bk I FLER 98 25 Et
1848 |H#549IA25H K3tHir [17)::] bk I RLER 120 45 =]
1849 |S#549IA24H RInF B7# bk I FLER 120 48 =4




&5 £8H HETH ZRBH BRRE (13| RERS [ fECn | 4EK) | BERE
1850 |#70540A268 |—mE  |hE AE || BBt 107 21 et
1851 |¥F54E9A 25 % JIIET = ik 3 23 533 95 45 [y
1852 |470549A28H  |MAH | L#H AE || BBt 72 28 B
1853 |#7I540A28E  |MEEH AR AE | K| BBt 120 40 Bt
1854 |470540A28E  |AsNT BB AE | K| BBt % % B
1855 7540208 |AH#ET  |KE AE | K| BBt 100 25 It
1856 |FN54E9A29R KFHHT =R ik 53 533 110 30 =43
1857 |¥F54E9A30R KFHHT =R ik 23 533 130 85 =43
1858 |47540A29H  |MEFH | RERH AE | K| BBt 120 40 et
1850 |470540A30H  [EFH |RETRA AE | K| BBt 120 65 et
1860 |#54E10A28 REHET * bt i 743 60 20 =15
1861 |F54E10A28 KIHHT =E bit ] ;3 743 90 15 =15
1862 [475410A3H  |FBRH |=/& mE | M| RR 100 24 B
1863 [475410A3H  |F®RH |=/& mE | M| RR 100 15 B
1864 | FI5&E10A38 FERT |=/B bt i 743 100 15 (=43
1865 [475410A3H |F®RH |=/& mE | M| RR 100 15 B
1866 |4705410A4E  |AMET  |£R mE | M| RR 8 10 e
1867 |#54£10A5H =) * bit ] i 743 80 30 =15
1868 47054 10A5H  [BFH  |[RETRAE mE | M| RR 120 65 B
1860 [#FISE10A5E  [E@FH |RETRE wmE || R 120 65 B
1870 [4705410A7H  [BFH  |RETRAE mE || 9K 60 7 e
1871 |F54E10A6H MERT AR bk 3 i 743 95 38 =43
1872 |F54£10A108 ZEH hE bk 3 i 743 100 20 [y
1873|4705 10A8E  |[MERH WA mE || RR 70 20 e
1874 |&F54E10A118 MERTE (B bk 3 i 743 120 40 [y
1875 |475410A11E B8R H  |[@E/H mE | M| BR 100 50 B
1876 |F54E10A 148 ZEH hE bit ] ;3 743 97 25 =15
1877 |&#54£10A138 MERTE (B bk 3 i 743 120 38 [y
1878 4754 10A13E  [fMERH  |REEM mE || RR 130 85 B
1879 |&#5410A138 HERT | BRE=T K T ;3 513 123 100 =43
1880 |FN54E10A168 KFHET =E bit ] ;3 743 80 20 =15
1881 |F54E10A168 ZEH hE bk 3 i 743 118 70 [y
1882 4754 10A156  |FRFAH /K mE || RR 102 74 B
1883 |F54E10A168 BERET BT bk 3 i 743 60 20 =43
1884|4754 10A16E  |FRAH /K mE || RR % 12 e
1885|4754 10A1TE  |F®FAH /K mE || RR 140 85 B
1886 47054 10A21E  [BMFH  |[RETRAE mE || RR % 35 e
1887 47054 10A228  [BFH  |RETRA mE | | RR 100 40 B
1888 |®#54£10A228 MERTE (R nE 23 743 80 25 =15
1889 |#54£10A218 BERET BT bk 3 i 743 100 20 [y
1800 47054104258 |AstET  |KE mE || RR 130 % B
1891 4754 10A28E  [ERH  |RERH: mE | M| RR 100 40 B
1892 |4705410A28E  [BARE |ETF WE | M| RE 60 20 Bt
1893 |#75410A298  [MERH |RENR mE || RR 80 2 e
1894 |F54£10A308 KIHHT :3: bk ] i 743 100 30 [y
1895 |F54E10H298 SN BETHE bk 3 i 743 112 55 [y
1896 [¢F5%11AIE  [RERH |REIE mE || RR 130 60 B
1897 [#7511ATH  [HERH  |REWL mE | M| 9K 60 9 e
1898 |#5411A18 ZEH —f bk 3 i 743 110 35 [y
1809 [€FS&11ATE KB |#E mE | M| RR 130 85 B
1900 754 11A5E  [8RH  |RERH: mE | M| RR 125 80 B
1901 [$75% 11858 |[@FAT |[RERH T 80 25 Bt
1902 47054 11A28  [H#FRH |[GETRA T 85 28 Bt
1903 [#F5E11H28  [H@#@F#H  |RETRE wmE || R 130 65 B
1904 47054 11A28  [BRH  |RETRE mE | M| RR 8 2 e
1905 |#54E11H28 KIHHT Ll bk 3 i 743 110 40 [y
1906 |F5411H28 KFHET FRE bit ] ;3 743 70 20 =15
1907 |&#f5411H48 KIHHT (:3: bt 23 743 80 20 =15
1908 |#54£11A58 KFHET FRE bit ] ;3 743 80 30 =15
1909 |#5411H28 KFHET FRE bit ] 23 743 80 25 =15
1910 |F5411A58 —EH B bk 3 i 743 101 20 [y
1911 |®75411A6E  |—=8  |hE - |4 | AR 102 40 B
1912|4754 11A4E  [{BBRH | RETH mE | M| RR 130 30 B
1913 47054 11A8E  |[MamEr |3 mE || RR 100 2 B
1914|4754 11A8E  |AstlT  |@E mE || RR 120 70 B
1915 |f5411A108 KIHHT (o3 bk 3 i 743 120 80 [y




&2 £8H HETH ZRBH BRRE (13| RERS [ fECn | 4EK) | BERE
1916 |Ff5411A118 KIHHT 11]::] bt i 743 110 60 [y
1917 47054 11A108  [8@FH  |[RETRE mE | % | BB 6 28 B
1918 4754 11A128  [RERH  |REIR mE | % | BB 100 % B
1919 |#7I5E11A128  |[MERE | mE || RR 120 40 B
1920 |F5411A148 SN By e R ;3 513 140 70 [y
1921 4754 11A138  [RBRH  |[REIR mE || BR 8 20 B
1922 [¢75%11A138  [RBRH  |REIE mE | % | BB 78 16 B
1923 [475%11A14E  |[PEH  |1E mE | M| RR 110 20 B
1924 |f5411A148 KBET hE bit ] i 743 121 25 [y
1925 |f5411A148 KBET hE bt i 743 110 20 [y
1926 [¢75%11A158  [RERH  |[REIR mE | % | 9B 7 15 B
1927 [¢75%11A158  |MAH | L¥H mE | | RR 60 15 B
1928 [#75E11A168  |[MERT  |m& mE | M| RR 7 20 Bt
1929 |#f5411A178 KBET hE bit ] i 743 141 50 [y
1930 |%#5411A178 KIHHT = bk ] i 743 130 95 [y
1931 |#f5411A218 ZEH hE bk ] i 743 158 90 [y
1932 |f5411A218 MERTE (R bk 3 i 743 110 70 [y
1933|4754 11A228  [RERH  |REHR mE || RR 120 50 B
1934 [475%11A23E8  [B#F®H |[RETRA T 65 28 Bt
1935 [#F5E11A218  [@#@FH  |RETRE wmE | ® | R 65 28 It
1936 €754 11A218  [RERH  |[RETAE mE | % | BB 6 28 B
1037 |#FOSE11A23E | KMET  |ERAR mE || RR 130 40 B
1938 |#f5411H238 HERET  |BEL nE i 743 110 20 [y
1930|4754 11A248  [RERH  |[RETAE mE | % | BB 155 o7 B
1940 (47054114268 [9#FH |[REXTF mE || A 108 48 it
1941 [#F5€11A278  [g®m  |[T&R mE | B | RK 140 85 B
1942 [@F56 117280 [f8EH  |REML wmE || R 112 67 B
1943 47054118298 [BRH  |RETRA mE | M| BR o 32 B
1944 |f54£12A 28 BERET BT nE I 743 60 1 =15
1945 |75 12A1H  |REET | B% - | # | AR 101 3 Bt
1946 |F54E12H 3R R EHET * nE -3 743 80 15 Bt
1947 4705412860 |kl &R mE || RR 120 70 B
1948 |fN54E12H6R REHET * bt ;3 743 140 105 =15
1949 47054 12A7H AT |@E mE || RR 140 80 B
1950 |F54£12H98 KFHET 11]::] bt I 743 160 95 (=43
1951 |¥fn54E12H8H FaARET ®/ R ET )3 543 84 30 Bt
1952 47054128126 [{BEBRH  |REME mE | | BR 125 67 B
1953 [¢75%12A17E  [RERH  |[RERHR mE | M| RR 123 58 B
1954 47054128238 |MIIH  |Kra mE || RR 100 60 B
1955 |§f5412A248 REHET RERE bt i 743 70 25 =15
1956 €754 12A24E  |WEET  |WEME mE | M| RR 140 85 B
1957 [476412A258  |ERH |REHR mE || RR % 3 B
1958 |®754 127268 |MERH |RE=4A mE | M| RR % 16.5 B
1950|4754 12A228  |[MERT  |GR mE | M| RR 130 % B
1960 |F54E12A268 KBET Fa/Nl bk 3 i 743 105 16 [y
1961 47054127288 |@EMT  |BE mE | M| RR 120 70 B
1962 |#54£12A308 KIHHT :3: bk 3 i 743 100 40 [y
1963 |#5412A318 KIHHT =E bk ] i 743 160 110 =43
1964 47054128318 |@RMT  |BE mE | M| RR % 2 B
1965 |§F5412A298 MERT  |AH bt i 743 110 30 (=43
1966 |F54E12A298 MERTE (R bk 3 i 743 130 60 [y
1967 [¢706%1A28  [BE@FH | REHR mE | ® | BR 135 84 B
1968|4764 1A3E  [MEFH |RETRA mE | # | BB % 27 B
1960|4764 1A4E  |BEFH  |RETRA mE | # | BB 115 15 B
1970 [$M6F1A4E  |Wgd  |tB AE || BBt 160 105 B
1971 [$F6F1A4E | KM |#HE AE || BBt 130 100 B
1972 [$F6E1A4E | KN |#HE AE | K| BBt 100 70 B
1973 [®765F1A4E  |FRRM  |B® AE || BBt 156 80 B
1974|4754 128318 |F®RH /K mE | M| RR 128 30 B
1975 |#76%1A1E8  |[MEET | mE | ® | BR % 40 B
1976 4764 1A8E  [MEFH |RETRA mE | ® | BR 60 20 B
1977 47064 1A8E  [M#FH |RETRA mE | ® | BR 60 20 B
1978 [%765F1A8H  |HERH |REMHR AE || BBt 125 60 B
1979 [476%1A11E  [B#FH | RETRA mE | ® | BR 115 55 B
1980 47064 1A108  |@mFE |BL AE | K| BBt 50 40 B
1981 |[476%1A108  |@mAFE |BL AE || BBt 50 3 B




&5 %R H BT+ RRIBM SRR A | BERES | R (m) | 4E (Ke) RERR
1982 |5#6£1A10H BARET | EL ik I RLER 50 40 Et
1983 |4#6£E1A10H BARET | EL bk B RLER 50 40 Et
1984 |S#6£1A10H BARET | EL bk I RLER 120 65 =]
1985 |4#6E1A15H KT /N bk I FLER 96 13 Et
1986 |#6E1A16H FEH = bk B R 100 20 =]
1987 |#6£1A15H MERTAE ik B R 140 100 Et
1988 |#6E1A15H MERTAE bk B R 135 80 =4
1989 |#6E1A19H AL & HE B 533 120 45 2]
1990 |#651A20H AL & bk B RLER 80 25 2]
1991 |S#6£E1A22H HERT | &EIIR bk I FLER 80 24 Et
1992 |5#6£1A22H HERT | &REIIR bk I FLER 15 22 Et
1993 |S#6£E1A24H LN iR bk B RLER 90 40 Et
1994 |5#65E1A26H KT [17)::] bk I RLER 110 45 =4
1995 |#651A26H EBH B ®T I RLER 82 30 2]
1996 |#6E1A2TH RInF Boe bk B RLER 85 15 Et
1997 |#6£1A21H RInF Boe ik I RLER 120 23 =]
1998 |4#6£E1A2TH RInF Boe bk B RLER 105 23 =]
1999 |5#6E1A2TH RInF Boe bk B RLER 130 57 =]
2000 |%F164F1A 258 HERT | &EIIR bk B FLER 98 22 Et
2001 |$#64F1A29R HERT | RETAR bk I R 105 38 Pt
2002 |$F64F1A 268 £l —2E bk I R 125 60 =]
2003 |&f65F1A29R BARET  BAE bk B FLER 100 70 Pt
2004 |&F164F1A29R BARET | EL bk I RLER 60 20 Et
2005 |#164F2A3H BARET BT bk I FLER 60 21 Et
2006 |5#I64F2A3H BARET BT bk B RLER 65 23 Et
2007 |$#164F2A1R BARET | EL bk B RLER 120 75 =]
2008 |#164F2A3H HERT | REIIER bk I R 100 30 Pt
2009 |5#164F2A5R BARET | EL bk I FLER 100 25 =]
2010 |$#164F2A5R FEH TE bk B RLER 163 100 Et
2011 |5#164F2H6R KT LN ik I R 105 16 =]
2012 |$#64F2R 108 HHERET g bk I R 150 70 Pt
2013 |5#164F2A9R KT RE bk I R 133 30 =4
2014 |5#1645F2A9R MR | RETRA ik B FLER 95 28 Et
2015 |5#164F2H8H HERT | &EIIR bk B R 110 34 Pt
2016 |$f164F2A13RH RERm |=/8 ®C B FLER 142 75 Pt
2017 |$#64F2A13RH (AL & bk B FLER 90 28 Et
2018 |%#164F2A13RH RERT  |F/A bk I FLER 120 20 Pt
2019 |%#164F2A13RH HERT | ®&EIIR bk I FLER 90 22 Et
2020 |%f64F2A 158 BARET | EL bk I FLER 110 70 Pt
2021 |$f64F2A16H BARET | EL ik B RLER 100 20 =]
2022 |%f164F2A 18R BARET | EL bk B FLER 140 90 Pt
2023 |%f164F2A16H HERT | REE5HE bk I FLER 90 25 Et
2024 |%F64F2R19R HHERET L bk B RLER 50 10 Et
2025 |$f64F2A19R —=Hr ne ®C I FLER 92 55 Et
2026 |$FI64F2A 198 —=Hr ne ®C I RLER 102 70 =]
2027 |%#164F2A20R MERT MY bk I R 110 40 =4
2028 |$fI64F2A21RH MERT (RN bk B RLER 90 20 Et
2029 |%f64F2A21RH MERTBE bk I RLER 70 20 Et
2030 |$f64F2A24R KT RE bk B FLER 85 22 Et
2031 |$f164F2A24R KT RE bk B RLER 87 23 Et
2032 |$f64F2A24R FEH TE bk B FLER 140 60 =4
2033 |$fI64F2A24R FEH FT&ER bk I R 125 50 =]
2034 |%f64F2A 28R MERT(RFI bk I FLER 100 40 Pt
2035 |#164F3A2R KT EIRFF A48 bk B R 149 61 Pt
2036 |$#I64F3A2R BARET  |E bk I RLER 50 10 Et
2037 |$#164F3A3H MERT(EOI bk B FLER 125 60 =4
2038 |HFI64F3A4R FEH TE bk I RLER 120 55 =4
2039 |5FI64F3A4R HERT | RERH bk I R 140 60 Pt
2040 |5FI64F3A3H HERT | REWL bk I FLER 110 45 Pt
2041 |5#164F3A3H RInF Boe bk I RLER 100 30 =]
2042 |5FI64F3A5H K3tHir FRE bk B RLER 110 45 =]
2043 |5FI64F3A4R BARET | EL bk I FLER 70 20 Et
2044 |5FI64F3ATH —=Hr hE ik I FLER 113 30 =4
2045 |5F164F3A8H HERT | RERH bk I FLER 90 30 Et
2046 |SF164F3A 108 (AL & bk I R 110 70 =4
2047 |$#64F3A10H AL & ik B RLER 80 40 2]




EE %R H ks RRIBM SRR A | BERES | R (m) | 4E (Ke) RERR
2048 |$fI64F3A11RH —=Hr hE ik ] RLER 123 40 It
2049 |$fI64F3A13RH MERT(FOI il ] RLER 120 50 et




&5 %R H ks RRIBM SRR A | BERES | R (m) | 4E (Ke) RERR
2050 |%fI64F3A12RH MERT(FOI ik I RLER 140 70 =]
2051 |$f164F3A12RH HERT | RERHF bk B FLER 140 70 Pt
2052 |$f64F3A14R HERT | RE=H# bk I FLER 95 19 Et
2053 |$fI64F3A 15 HERT | RETAR bk B FLER 110 40 Pt
2054 |$fI64F3A17H LN iR bk I RLER 118 40 =]
2055 |$fI64F3A17H LN £kl ik I RLER 112 35 =]
2056 |fI64F3A17H K3tHir FRE bk B RLER 140 85 =]
2057 |$f64F3A15H 1L AL BT BERRE bk ] FLER 100 30 Pt
2058 |SfI64F3A17H UEd) RN bk B FLER 140 75 Pt
2059 |%f164F3A 18R K3Hir m bk I RLER 150 100 Et
2080 |%FI64F3A21RH HERT  |[RE/MR bk I FLER 80 15 Et
2081 |$f64F3A21RH MERT(EOI bk B RLER 100 50 =]
2062 |$f64F3A22RH MERTBE bk B RLER 90 20 Et
2083 |$fI64F3A22RH HERT | &EIIR bk B FLER 94 28 Et
2064 |$fI64F3A 23R MR | RETRA bk I FLER 90 25 Et
2085 |$fI64F3A 23R BARET | EL ik B RLER 95 15 Et
2066 |SFI64F3A27H (AL & bk B RLER 100 50 =]
2087 |%f64F3A31RH KT BAR bk B RLER 133 36 =]
2068 |$FI64F3A29R HERT | &EIIR bk B FLER 105 34 Pt
2089 |$FI64F3A31RH MR | RETRA bk I FLER 125 70 Pt
2070 |%#64F3A31RH HERT | RE=H# bk I RLER 125 30 =4
2071 |$#64F3A30H HERT | RE=H# HE I RLER 92 15.2 2]
2072 |5#I64F4A1RH MERT (RN bk I RLER 115 40 =]
2073 |5#I645F4A4R BARET  BAE bk I FLER 120 52 Pt
2074 |5#1645F4A4R AR |[REFR bk B FLER 90 22 Et
2075 |5#1645F4A6R MERT (RN bk B RLER 110 40 =]
2076 |5#I645F4A5R K3tHir FRE bk B RLER 90 40 Et
2077 |$5#1645F4A6R K3tHir =R bk B RLER 130 90 =4
2078 |7165F4A5H HERT  (RE/MH bk I FLER 110 40 Pt
2079 |$#64F3A 28R MERT|RE ik I R 115 40 =]
2080 |FI645F4H6R HERT | RE=SK bk B FLER 120 31 Pt
2081 |5#I65F4A6R HHERET Ll bk I RLER 100 30 =4
2082 |5FI65F4A9R HHERET L ik B FLER 90 20 Et
2083 |#I65F4HA8H HERT | &EIIR bk I FLER 90 22 Et
2084 |%f164F4R 108 LN SRl ik B RLER 119 35 =]
2085 |$fI64F4R 108 LN SRl bk B FLER 140 70 Pt
2086 |SfI64F4R14R HERT | RETAR bk I FLER 115 55 Pt
2087 |5#1645F4A9R MR | RETRA bk I FLER 110 45 Pt
2088 |%fI64F4R11RH HERT | RETH bk I FLER 165 64 Pt
2089 |%f64F4R14R HERT | &REIIR bk I FLER 90 22 Et
2090 |%f64F4R13RH RERT  |F/A bk I FLER 110 28 Pt
2091 |%f164F4R 158 MERTER bk B RLER 100 40 =]
2092 |$fI64F4R19R K3Hir [17)::] bk I RLER 110 50 =]
2093 |$fI64F4A25R LN SRl bk B FLER 116 33 Pt
2094 |$f64F4RA27H BARET BAE bk B FLER 120 45 Pt
2095 |$fI64F4A25R HERT  |[REFR bk B FLER 140 98 Pt
2096 |SFI64F4R29R BARET | EL bk B RLER 95 20 Et
2097 |7164F5A58 RInF Boe bk B Ll 40 3 Et
2098 |5FI64F5H4R LN LHH bk B FLER 63 40 Et
2099 |5FI64F5H4R LN SRl ik B Ll 132 41 =4
2100 |5#164F5H2R HERT | &EIIR bk B FLER 95 26 Et
2101 |7164F5A58 RInF Boe bk B Ll 40 3 Et
2102 |$#164F5H2R —=Hr hE ik I FLER 120 30 =4
2103 |5#I64F5H6R MERT (RN bk I FLER 115 50 Pt
2104 |5#164F5H8R K3Hir [17)::] bk B FLER 120 60 =4
2105 |5#I64F5H9R K3tHir 33 bk I RLER 90 25 Et
2106 |$#164F5H 108 BARET BT bk B FLER 70 25 Et
2107 |$#64F5R 108 HHERET L bk B RLER 125 40 =]
2108 |$#64F5R12RH K3tHir 33 bk B FLER 90 20 Et
2109 |%#64F5R 148 HERT  |REWL bk I Ll 95 25 Et
2110 |$f64F5R17RH K3tHir = bk I FLER 100 35 =4
2111 |$#64F5R 18R K3tHir = bk B FLER 80 20 Et
2112 |$#64F5R17RH HERT | RETAR bk I FLER 125 70 Pt
2118 |$#64F5A 23R K3tHir FRE bk I Ll 100 40 =4
2114 |$f64F5A 268 HERT | RETAR bk I FLER 125 65 Pt
2115 |f64F5A29R —=Hr hE bk B FLER 138 40 =4




&5 s ] THETH SR SRR M| RERS | hR (m) | KE (Ke) RERE
2116 |RF164E5H298 HERT |[RETAR s 3 SR 85 25 =33
2117 |$#164E5H308 —EHr hE it ] 3 SR 129 50 [=3i:3
2118 |®F1645H30R K HHET HE it ] 3 SR 65 8 =33
2119 |®F1645H308 K HHET HE it ] i SR 65 8 =33
2120 |&F1645H30R K HHET HE s 3 SR 65 8 =33
2121 |®F645H308 K HHET HE s i SR 65 8 =33
2122 |&F645H308 K HHET HE it ] i SR 65 8 =33
2123 |$#1645H318 —EHr —f it ] 3 SR 64 5 =33
2124 |ST64E6A1R K HHET 25 it 3 ARER 110 40 [=3i:3
2125 |4F064E6A4R —EHT ) B ] %k 56 3 {13
2126 |RF164E6A6H EARET AR it 3 24 145 45 [=3i:3
2127 |SF64E6ATH K HHET 2E s i RRER 100 40 13
2128 |SF64E6ATH K HHET 25 it 3 SR 50 4 =33
2129 |SF64E6ATH K HHET 25 it 3 SR 50 4 =33
2130 |RFI646ATH b L) HE s i 24 115 40 [=3i:3
2131 |SF64E6H9R K HHET 24 s i ARER 100 30 [=3i:3
2132 |SFN64E6H9R K HHET 25 it i ARER 100 30 [=3i:3
2133 |RFI646ATH MERT RN it ] i 24 110 50 (=33
2134 |4F064E6 ASH (ITEI4) E#E i1 e RRER 120 50 43
2135 |4 F064E6A17H KHET ‘AR i1 [ Rk 50 2 {13
2136 |©F064E6A17H KHET ‘AR i1 [ Rk 50 2 {13
2137 |4 F064E6A17H KHET ‘AR i1 e Rk 50 2 {13
2138 |4 F064E6A17H KHET ‘AR i1 e Rk 50 2 {13
2139 |&FI64E6H 198 —EHr —f it ] 3 SR 72 5 =33
2140 |$F164E6H208 KFHHT =E s 3 SR 60 7 =33
2141 | 9646 A 2280 K HHET 25 it ] i SR 60 2.5 [=3i:3
2142 |4F164E6A22R MERT (BN ik e RLER 125 50 =y
2143 |$F1646H278R —EHr -E it ] 3 SR 67 2 [=3:3
2144 |4 F064E6 A 27H K FHT m i1 e Sk 70 5 2413
2145 |4 F064E6 A 29H K FHT 33 i1 M RRER 120 35 BBt
2146 |$F164E6H308 K ET R E it ] i SR 50 5 [=3:3
2147 |&F64ETA1R MERT (BN ik [ RLER 125 60 =y
2148 |SF64TA3H —EHr hE s 3 4R 68 5 [=3:3
2149 |&FI64ETA6H MERT (BN ik [ RLER 100 40 =y
2150 |RF164TASH b L) HE s i 24 110 35 [=3:3
2151 |®F164THASH KT HE it i 24 110 35 [=3:3
2152 |4 F064E7A9A (ITE1d) E#E i1 e RLER 120 45 43
2153 |4F064E7ASH (ITE1d) EHEI i1 e RLER 110 40 43
2154 |SF64ETHIA K HHET 25 it 3 ARER 120 65 [=3:3
2155 |4 FI64E7A10R KT /N ik e RLER 110 40 =y
2156 |€F064ETH 108 KHET T/ i1 [ Sk 50 3 2413
2157 |SF64ETHIA K HHET 25 it 3 ARER 120 65 [=3:3
2158 |€F064ETH 108 KHET T/ i1 e Rk 50 3 2413
2159 |4 F064ETH 108 KHET T/ i1 e Sk 50 3 2413
2160 |4 F064ETH 108 KHET T/ i1 e Rk 50 3 2413
2161 |$F6&£ETA11B HERT |BER=7K it ] 3 24 160 144 [=3:3
2162 |$F6£7H128 HERT |[RRIER it i 24 120 43 [=3:3
2163 |64 TA11H K HHET 24 s i AR 60 10 [=3:3
2164 |4FI64E7TA13R MERT (BN ik e RLER 115 60 =y
2165 |64 TA11H K HHET FiR it ] i SR 60 4 [=3:3
2166 |SF6ETA11H K HHET FiR it ] 3 SR 60 4 [=3:3
2167 |SF64E7A13H K HHET 25 it ] i SR 60 7 [=3:3
2168 |©FN64E7A13H K HHET 24 s i SR 60 7 [=3:3
2169 |&FI6&£TH148 K ET R E it ] i SR 60 5 [=3:3
2170 |$F164&£7H148 K FHET R E it ] 3 SR 70 6 [=3:3
2171 |$F6&£TH 148 FBERT =/ E it ] )3 bl o 60 7 [=3:3
2172 |£FI647H168 KT EIRF AR it ] 3 24 130 80 [=3:3
2173 |4F64ETA1TR MERT (BN ik [ RLER 80 15 =y
2174 |4 F064ETH18H K FHT = i1 M RRER 110 20 2413
2175 |4 F64E7A18H MERT (A ik e RLER 110 30 =y
2176 |$F6£TH198 K ET R E it ] i 24 70 15 [=3:3
2177 |4 F64ETA19R MERT (BN ik [ RLER 120 60 =y
2178 |4 F64E7A20R MERT  [RE ik e SEk 60 5 =y
2179 |4 F64E7A20R MERT (BN ik M SEk 50 5 =y
2180 |©FN64E7A24H K HHET 25 it ] 3 SR 70 10 [=3:3
2181 |&FI64&£7H218 FBERT =/ E it ] 3 24 115 50 [=3:3




&5 s ] THETH SR SRR M| RERS | hR (m) | KE (Ke) RERE
2182 |4 F64ETA31HE YAE BT =5 i1 [ RLER 65 10.5 2413
2183 |&FI64&£7H31R —EHr —f it ] 3 24 83 15 [=3:3
2184 |RFN648A1H K ET R E it 3 24 150 100 [=3:3
2185 |4F164E8A1RH K 3HT m i1 e RRER 80 15 2413
2186 |RFI64E8A3H —EHr hE s 3 24 80 12 [=3:3
2187 | FI64E8A5H MERT (BN ik [ SEk 70 7 =3
2188 | FI64F8A5H MEIRT  [RE ik e SEk 70 5 =y
2189 |RFN648A2H FBERHT =/ E it ] 3 24 130 50 [=3:3
2190 |RF1648A6H FeRM (/A it ] i SR 70 9 [=3:3
2191 |9F1648HA6H FeRM (/A s i SR 70 9 [=3:3
2192 |9F1648ATH FeRM (/A it i SR 70 10 [=3:3
2193 |&FI64E8A8H MEIRT  [RE ik e SEk 70 5 =y
2194 |4 FI64E8A8H MERT (AT ik 3 SEk 70 5 =y
2195 |RF164E8A9H K ET 1] ::] it 3 24 110 40 [=3:3
2196 |4F164E8 AR YAE BT =5 i1 [ RRER 60 15 2413
2197 |SF648A10H K HHET 24 it i SR 70 8 [=3:3
2198 |SFN64E8A10H K HHET 25 it ] 3 SR 70 8 [=3:3
2199 |4F164E8A11RH MERT (A ik [ RLER 100 40 =3
2200 |4F064E8A11H (ITEI4) E#E i1 [ RRER 130 50 2413
2201 |&F#1648H 1280 K FHET R E s 3 24 70 50 [=3:3
2202 |4F064E8 A 138 YAE BT =5 i1 e RLER 90 32 2413
2203 |4FI64E8A16H MERT (BN ik e RLER 90 30 =y
2204 |SFN64E8A1TH EAIRET  (|BURE it i 24 90 45 [=3:3
2205 |4FI64E8A18H MERT (BN ik e RLER 80 10 =y
2206 |&F164E8H 208 ETRET | BEL s 3 24 130 20 [=3:3
2207 |&F#1648H218 KFHHT BE it ] i 24 70 15 [=3:3
2208 |©FN64E8A23H K HHET 25 it ] i SR 70 7 [=3:3
2209 |4F064E8F25H KHET T/ i1 e Sk 70 7 2413
2210 |4F164E8A 22 MERT (BN ik [ RLER 110 50 =y
2211 |4F164E8A 23R MERT  [RE ik e RLER 110 50 =y
2212 |$F1648H 268 —EHr hE it ] 3 SR 80 5 [=3:3
2213 |4F064E8F28H K 3HT #*E i1 e RLER 70 15 2413
2214 |$F1648H31H HERT |[RE=EH s i 24 120 40 [=3:3
2215 |9F649A2H KFHHT -39 it 3 24 150 110 [=3:3
2216 | FI64F9A3A HEERT  [REMR ik [ 5 s 120 40 =3
2217 |SF64E9A4R K HHET FiR it 3 24 80 12 [=3:3
2218 |SFN64E9A4R K HHET FiR it i 24 80 12 [=3:3
2219 |4F164E9ATH K FHT = i1 [ RRER 60 10 2413
2220 | FI64F9A8H MERT [T ik e RLER 80 30 =y
2221 |RF649A6H HERT |BER=7XK it )3 SR 80 1.4 [=3:3
2222 |4F064E9A8H K 3HT 1]::} i1 [ R 90 25 2413
2223 |RF649A9H —EHr —f it i 24 120 50 [=3:3
2224 |£FI64E9A 138 KFHHT -39 s 3 AR 80 15 [=3:3
2225 |SF649IA4R FeRM (/A it ] 3 24 80 10 [=3:3
2226 |SFI649A8H FeRM (/A it 3 24 80 10 [=3:3
2221 |&F649A8H FRBRM |=/EB it ] 3 24 75 10 [=3:3
2228 |SFI649A8H FBEERHT =/ E it ] )3 24 75 10 [=3:3
2229 |SFI649A8H FBERHT =/ E s )3 AR 75 10 [=3:3
2230 |RFI64E9A8H FBERT =/ E it ] )3 24 75 10 [=3:3
2231 |RFI649A8H FBERHT =/ E it ] )3 24 75 10 [=3:3
2232 |4 F064E9A 148 K FHT =R i1 M R 60 110 2413
2233 |4 F064E9A 148 YAE BT =5 i1 e RLER 120 60 2413
2234 |4 F064E9A17H YAE BT =5 i1 e RLER 72 12.7 2413
2235 |4 F064E9A17H K FHT = i1 e RRER 120 65 2413
2236 |§FI64E9A17H KFHHT BE it ] i 24 60 15 [=3:3
2237 |4FI64E9A 18R MERT  [BR ik M RLER 70 30 =y
2238 |4 FI64E9A 18R MERT  [BR ik [ RLER 70 30 =y
2239 |4FI64E9A18H MERT  [BR ik [ RLER 70 35 =y
2240 |4FI64E9A18H MERT  [BR ik [ RLER 70 30 =y
2241 |4F164E9A 18R MERT  [BR ik [ RLER 70 30 =y
2242 |4 F064E9F 238 =L =5 i1 M RRER 80 16 2413
2243 |4 F164E9A20R MERT [T ik e RLER 70 30 =y
2244 |4 F064E9F 238 KFHHT 1]::} i1 e R 70 15 2413
2245 |4 F064E9F 238 K FHT = i1 [ RRER 60 12 2413
2246 |$FI64E9H 208 HERT |[RE=EH it i 24 110 40 [=3:3
2247 |£FI64E9H 208 HERT |[RE=EH it ] i 24 70 13 [=3:3




&5 s ] T+ SR SRR M| RERS | hR (m) | KE (Ke) RERE
2248 |&FI64E9H 248 —EHr —f s )3 24 94 10 [=3:3
2249 |&FI64E9H 248 L¥N ) EIEH it ] 3 24 101 28 [=3:3
2250 |4FI64E9A24R MERT (BN ik e RLER 60 15 =y
2251 |4 FI64E9A24R MERT (A ik e RLER 60 20 =y
2252 |4 F064E9F 198 KFHHT EX# i1 ] R 60 15 2413
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